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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400,

State-wise Distribution of Cars

Ratio
State Percentage Distribution\pjese| Engine Cars : Petrol
of Cars Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 12l

faifea awoft & I) TG (A, B, ¢, D) & 3T SR @1 Ulawa § faawor ok S
U9 Ueid ¥99 BRI &1 U Uerkid fFar mr & | it 9r =0l § ol @ o
T 1400 § | RV & el W mutfyd, sl & 3w i

T - R BRI B faawu

T | BRI &1 ufaad 3 faawo . S .
SI9d SoiF &R : UTId goi &R
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 14

What is the difference between the number of diesel engine cars in State 'B' and the
number of petrol engine cars in State 'D'?

(1) 24
(2) 42

(3) 56

4) 63
gﬁ?:-B-i?iérsﬁﬂ'gaﬁqfﬁTéTfﬁﬁiiﬁiﬂ1aﬁz'znﬁi'D'iifkj31%§3F1EﬁTiTEﬁT:T@iﬂ'%iiﬂ?ﬂ\3RTIERH
g7

(1) 24

(2) 42

(3) 56

(4) 68

1[Option ID=23605]
2[Option ID=23606]
3[Option ID=23607]
4[Option ID=23608]
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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between

diesel and petrol engine cars in four different States (A-D).
Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution\pjese| Engine Cars : Petrol
of Cars Engine Cars
A 14%
B 28%
C 32% 2113
D 26% 122

frgifeea aroft § I/ 7=t (A, B, ¢, D) F =Tld SR F1 ufawE § fRaww ok e
T U9 99 BRI BT U Ueikid frar mn # 1 Tt R Tt § $RT #t o9
@AM 1400 ¥ | ARUN & 3mdel W snutfyd, st F Iwv i

T - R BRI B faawu

T | BRI &1 ufaad 3 faawo . S .
SI9d SoiF &R : UTId goi &R
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 14

Number of petrol engine cars in State 'C’ is what percent more than the number of
diesel engine cars in State 'A'7

(1) 100 %
(2) 125%

(3) 200 %

4) 120%

A4 C T Ueid oM BRI &f U= Ul A’ H Sioid dRI &1 G- &1 o1 | [dd- Hic=id
HYHE ?

(1) 100 W=

(2) 125 W=

(3) 200 W=

(4) 120 Wid=rd

1[Option ID=23613]
2[Option ID=23614]
3[Option ID=23615]
4[Option ID=23616]
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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between

diesel and petrol engine cars in four different States (A-D).
Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution\pjese| Engine Cars : Petrol
of Cars Engine Cars
A 14%
B 28%
C 32% 2113
D 26% 122

frgifeea aroft § I/ 7=t (A, B, ¢, D) F =Tld SR F1 ufawE § fRaww ok e
T U9 99 BRI BT U Ueikid frar mn # 1 Tt R Tt § $RT #t o9
@AM 1400 ¥ | ARUN & 3mdel W snutfyd, st F Iwv i

T - R BRI B faawu

T | BRI &1 ufaad 3 faawo . S .
SI9d SoiF &R : UTId goi &R
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 14

If 25 % of diesel engine cars in State 'C" are Air-Conditioned (AC), then what is the
number of diesel engine cars which are non-AC in State 'C'?

(1) 150
(2) 50
(3) 190
(4) 210

i I8 'C H 25% Sieid ®K dId®ierd & di Uod 'C H IR dId@Icd Sieie dRI Bl
e ENg ?

(1) 150
(2) 20
(3) 120
(4) 210

1[Option ID=23621]
2[Option ID=23622]
3[Option ID=23623]
4[Option ID=23624]
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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between

diesel and petrol engine cars in four different States (A-D).
Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution\pjese| Engine Cars : Petrol
of Cars Engine Cars
A 14%
B 28%
C 32% 2113
D 26% 122

frgifeea aroft § I/ 7=t (A, B, ¢, D) F =Tld SR F1 ufawE § fRaww ok e
T U9 99 BRI BT U Ueikid frar mn # 1 Tt R Tt § $RT #t o9
@AM 1400 ¥ | ARUN & 3mdel W snutfyd, st F Iwv i

T - R BRI B faawu

T | BRI &1 ufaad 3 faawo . S .
SI9d SoiF &R : UTId goi &R
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 14

What is the difference between the total number of cars in State 'C" and the number of

petrol engine cars in State 'B'?

(1) 212
(2) 224
(3) 204
4) 19
Sl ' H BRI B pa T R Iy 'B* H Ul S PRI B H&H1 & d1d R 18 2

1) 212
(2) 224
(3) 204
(4) 196

1[Option ID=23629]
2[Option ID=23630]
3[Option ID=23631]
4[Option ID=23632]
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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between

diesel and petrol engine cars in four different States (A-D).
Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution\pjese| Engine Cars : Petrol
of Cars Engine Cars
A 14%
B 28%
C 32% 2113
D 26% 122

frgifeea aroft § I/ 7=t (A, B, ¢, D) F =Tld SR F1 ufawE § fRaww ok e
T U9 99 BRI BT U Ueikid frar mn # 1 Tt R Tt § $RT #t o9
@AM 1400 ¥ | ARUN & 3mdel W snutfyd, st F Iwv i

T - R BRI B faawu

T | BRI &1 ufaad 3 faawo . S .
SI9d SoiF &R : UTId goi &R
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 14

What is the sum of petrol engine cars in all the states together?

(1) 710
(2) 712
(3) 714
4) 716
it Il & =TT USie SoH BRI BI U= BT IR 1 & ?

(1) 710
(2) 712
(3) 714
(4) 716

1[Option ID=23637]
2[Option ID=23638]
3[Option ID=23639]
4[Option ID=23640]

Sl. No.6
QBID:344641

Which of the following types of learners learn with the help of flow charts or diagrams?

(1) Tactile
(2) Visual
(3) Auditory

(4) Rote




fFafeiad 4 9 o1 9 ueR & el v R Weies $1 Aeg 3 s i s € 2

(1) >
(2) TOEHFD
(3) HaUr-HadT
(4) TieOTet

1[Option ID=23645]
2[Option ID=23646]
3[Option ID=23647]
4[Option ID=23648]

Sl. No.7
QBID:344653

Match List | with List 11

List | List Il

Concepts Main proponent

A. Integral education . John Dewey

B. Focus on spiritual aspects of Indian philosophy |II. Sri Aurcbindo

C. Learning to take place in nature and from III. Dr. Sarvepalli

nature Radhakrishnan

D. Experiential learning IV. Rabindranath Tagore

Choose the correct answer from the options given below:
1) A-ILBE-IV,C-1I,D-1I
(2) A-LE-ILC-1,D-1V
G) A-NLB-ILC-1,D-1IV
(4) A-ILB-ILC-IV, D~

Tl | Ty G 1 B A Bife

T | el

HFYROT @] Ufaue®

A, S e . S 305

;;I:dlu GRFRIRE & EIE® Uedsl IR @F digd R

C. Uid H auT U id O S Ui - U dafea 111, 3T TdU! AUHW]
D. WARTIETD fRI&07 V. IfESAIY SR

T feu 710 faeheul H & Het 3Tk Bl 98- DIt :

1) A-1ILB-IV,C-1ll, D -1
(2) A-LE-ILC-N,D-IV
G) A-NLB-ILC-1,D-1IV
(4) A-ILB-IILC-1V,D-|

1[Option ID=23653]
2[Option ID=23654]
3[Option ID=23655]
4[Option ID=23656]

Sl. No.8
QBID:344663

In order to identify individual differences of learners in a class, which of the following
can be used by a teacher?

(1) Summative Assessments
(2) Formative Assessments

(3) Diagnostic Assessments




(4) peer Assessments

S BT 1 Rianfial & Afdard ol @ fed &3 & fau, e gr Fafiiaa o g
fa®1 van foa 91 9@di 6 ?

(1) HHAAIHAD HTDHH
(2) FHUTES HdHTH
(3) FeHES D
(4) GHDE DT

1[Option ID=23661]
2[Option ID=23662]
3[Option ID=23663]
4[Option ID=23664]

Sl. No.9
QBID:344668

The e-content generated under e-PG Pathshala project for Non-Technical Post-Graduate

courses is hosted on web by

(1) MNPTEL
(2) INFLIBNET
(3) SWAYAM
(4) IGNOU

TR-T@-d] WdditR UedsH! & o8 3 Ul off UTERM (e-PG Pathshala) TRTSHT &
Herfa gferd S - @ce @ fFafafad & € fogs gRIde R STa @ e 7

(1) T U2 E T (NPTEL)

(2) 3775 UF U U 313 & U7 § 1 (INFLIBNET)
(3) WTH (SWAVAM)

(4) 33 Sl T3 31 G (IGNOU)

1[Option ID=23669]
2[Option ID=23670]
3[Option ID=23671]
4[Option ID=23672]

Sl. No.10
QBID:344672

Which of the following is NOT an affective domain?

(1) Receiving

(2) Analysing

(3) Valuing

(4) Organising

FTEd 5§ ®F 4TS &8 61§ 2
(1) HI @Al

(2) fozawo &

(3) 7 Fiid &=

() FERTHH

1[Option ID=23677]
2[Option ID=23678]
3[Option ID=23679]
4[Option ID=23680]

Sl. No.11
QBID:344678




When a variable leads to a spurious interpretation of research results, it is called

(1) Contrel variable
(2) External variable
(3) Conflicting variable

(4) Confounding variable

e U UlYad 9 Ty UionH| &1 eredt SuHI0e 81 Sl € ol 98 Sedndl ¢ -

(1) 3 oftad
(2) FEdUREd

(3) ZaWR® uRad
(4) HHE URad

1[Option ID=23685]
2[Option ID=23686]
3[Option ID=23687]
4[Option ID=23688]

Sl. No.12
QBID:344681

The "Age’ of a respondent is an example of

(1) Parallel variable
(2) Monadic variable
(3) Dyadic variable

(4) Simple variable

Ue Ui & 1Y [HudT SeEv g ?

(1) YRR uRad
(2) Uad gRad
(3) fgor uikad
(4) YIYRO UREd

1[Option ID=23693]
2[Option ID=23694]
3[Option ID=23695]
4[Option ID=23696]

Sl. No.13
QBID:344687
Which of the following are disadvantages of qualitative research?
A. Too sensitive to the context
B. Open to debate
C. Too subjective
D. Difficult to generalise

E. Issue of replication

Choose the correct answer from the options given below:

(1) A DandEonly
(2) B, Cand D only
(3) C,DandEonly




(4) A Band Conly

9T H ®F UHS HFHUH & PRI f[dg g 2
A TeH & Ul sifadeeia

B. 915 - faaTg & fou dar
c. ¥ffq sfaaHg
D. UHHIGd B3 1 HisTs

E. Ufaiopfd @1 fawg
i feu e fadeul H ¥ Hel 9w 9+ -

(1) HIAA DARE
(2) HIAB, C ARD
(3) HITC, D ARE
(4) BITA, BARC

1[Option ID=23701]
2[Option ID=23702]
3[Option ID=23703]
4[Option ID=23704]

Sl. No.14
QBID:344693
Which of the following factors influence the sample size for a project?
A. Type of project
B. Purpose of project
C. Previous research in the area
D. Researcher's personality

E. His/her standing as a researcher

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B,Cand D only
(3) C,DandEonly
(4) A CandEonly

4t ufae & o ufdesl sMeR & nvIfdd &3 ax FEid R A 4 PR U g 2
A. TR ®T TSR

8. TN &1 35-4

C. &3 H gdad! sy

D. XY Pl Hfdda

E. Teda BT o T

<l e e fasredl # € w6l IR 9 -

(1) HIAA, B AR C
(2) HIAB, C ARD
(3) HITC, D ARE
(4) Haaa, C ARE




1[Option ID=23709]
2[Option ID=23710]
3[Option ID=23711]
4[Option ID=23712]

Sl. No.15
QBID:344702

Match List | with List 11

List | List Il

Research method L.
Characteristic

A. Content analysis l. Summarisation

B. Social network analysis Il. Use of bipolar adjectives

C. Semantic differential IIl. Focus on dyadic relations

D. Meta analysis IV. Context unit

Choose the correct answer from the options given below:
@) A-ILE-ILC-1IV,D-1
(2) A-IV,B-IILLC-1I,D-1I
3) A-LE-ILC-N,D-IV
4) A-IILB-IV,C-I,D-1I

Tl -1 B G -1l T GHRTd Bife -

i -| I -1

S fafd IEEGI0E

. 3iqded fazemo 1. &g

B. THIfA® ~ead (A1q) fa=emo 11, st fa=rwor &1 waT
c. 3 faves® 1. g dae w Fa
D. HeT fa=am . Te 3o

i feu e famedt & € 9 S gfu:

1) A-ILB-IL,C-1V,D-1I
(2) A-IV,B-UIL,C-1Il, D-1
G) A-LEB-ILC-1I, D-1IV

(4) A-IILB-IV,C-1I, D-1I

1[Option ID=23717]
2[Option ID=23718]
3[Option ID=23719]
4[Option ID=23720]

Sl. No.16
QBID:344705

In a classroom, an effective listener
(1) Resists distractions
(2) Seeks diversions
(3) Prefers message filtering

(4) Judges the message delivery style

o e T Ue UHmEr 4

(1) & YT EH T Uy BT 8

(2) TETITEAE

(3) T @I e ((eey) @71 749G didl &
(4) T USRET 2 @ Hidad &Xdl g

1[Option ID=23725]




2[Option ID=23726]
3[Option ID=23727]
4[Option ID=23728]

Sl. No.17
QBID:344708

The two-way, face-to-face communication is technically referred to as

(1) Level one
(2) Level two
(3) Level three

(4) Level four

GO AT - G- GBI d@-ie! €0 ¥ {59 TeR daiifd o o g ¢

(1) TR -TH
(2) -3l
(3) &R -dH
(4) T -TR

1[Option ID=23733]
2[Option ID=23734]
3[Option ID=23735]
4[Option ID=23736]

Sl. No.18
QBID:344715

From the communication perspective, which of the following variables distinguish one
culture from another?

A. Learning skills

B. Time sense

C. Level of gratitude
D. Level of honesty

Choose the correct answer from the options given below:

(1) Aand B only
(2) Band Conly
(3) Cand D only
(4) AandD only
fFafeRad # 8 o1 9 @R 98I & URUEE § U WRPid ¥ 3 H&pid B He P 6 7
A. STTTH BT

B. §HT &Y

C. Pl Bl wR

D. SAMGR] & W1

4 feu e fowent 9 98 I g -
(1) Had A R B

(2) BB AR C

(3) Had C AR D
(4) HAAAARD

1[Option ID=23741]




2[Option ID=23742]
3[Option ID=23743]
4[Option ID=23744]

Sl. No.19
QBID:344855

Given below are two statements:
Statement I: Small group communication fulfills the relationship needs.
Statement IIl: However, small group communication does not serve task-related needs.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

FaaiFERumE:
DY - | : 7Y T TR Gy BT AT dmarHl Bi gfd dar 3

DY - 11 - TR i, 7Y THE 98Iv0 & © Wefd sraxgdarsf &1 ofd g &l
Sudad @Yl & Hdie H FEfaRed faeel § U 9gi w3 :

(1) BRI TT E
(2) T 1 AR 11 EHT SHEA G
(3) B 1T, PP AT E |
(4) B 3T 2, B FUH 1 T B

1[Option ID=23749]
2[Option ID=23750]
3[Option ID=23751]
4[Option ID=23752]

Sl. No.20
QBID:344863

Which of the following are the functions of media as related to their audiences?
A. Creation of passive longing for media products

B. Omnivorous devouring of media content

C. Compensation through identification

D. Vicarious wish fulfillment

E. Sources of suggestion for appropriate role

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B,Cand D only
(3) A BandEonly
(4) C,DandEonly




Fafciad 7 9 Hifs & 14 € @ €, Sl 39 IdT - aid 37 § GalUd & ?
A, HifEa1 I@el & o Fissg w9 4 e g

5. Hifsan fawnag @1 GafgRt e

C. UgdH & HreH ¥ aifagfd

D. U1 =81 Ufd

£. SUE YH®T B [0 g=1d & 9

e feu o fasenl H 9 9el ST 9 -

(1) HIAA, B AR C
(2) HIAB, C ARD
(3) HaTA BANE
(4) HIAC, D ARE

1[Option ID=23757]
2[Option ID=23758]
3[Option ID=23759]
4[Option ID=23760]

Sl. No.21
QBID:344865

Find the missing term in the series given as:

4,6,12,14, 28, 30, 7

1) 32
(2) 36
(3) 52
(4) 60

E1 TS §Ea ¥ I UE J1d Bt :
4,6, 12,14, 28, 30,7

(1) 32
(2) 36
(3) 52
(4) 60

1[Option ID=23765]
2[Option ID=23766]
3[Option ID=23767]
4[Option ID=23768]

Sl. No.22
QBID:344869

In a certain code, O iswrittenas E, AasC, Mas|, SasO,NasP,EasM,las A, Pas N
and C as S, then how will COMPANION be written in that code?

(1) SEINCPAEP
(2) SENCIAPEP
(3) SENCPIAPE
(4) SNEIPCAPE

BT BEH OBEABICMBILSHIO,NDIP,EDBIM, IBIAPHINARCHS
@ ST 8, 1 39 &S § COMPANION @ &Y forar S 2




(1) SgINCPAEP
(2) SENCIAPEP
(3) SENCPIAPE
(4) SNEIPCAPE

1[Option ID=23773]
2[Option ID=23774]
3[Option ID=23775]
4[Option ID=23776]

Sl. No.23
QBID:344872

In a class of 43 students, Aashman's rank is 16" from the bottom. What is his rank from

the top?

(1) 28
(2) 27
(3) 26
(@) 29
43 B DI UDb H&TH SATHA BT < -d Y 16a1 81 HR Y IYUDI 3 b1 SR 2

(1) 28
(2) 27
(3) 26
(4) 29

1[Option ID=23781]
2[Option ID=23782]
3[Option ID=23783]
4[Option ID=23784]

Sl. No.24
QBID:344880

A pipe can fill a water tank three times as fast as another pipe. If both are used together,
these can fill the tank in 36 minutes. How much time will be taken by the slower pipe

alone to fill the tank?

(1) 192 minutss
(2) 108 minutss
(3) 144 minutes

(4) 160 minutes

U URY UMl & 36 &I ga% Uiy I i 761 oSl § R Uddl 51 AfG GiH1 urgat & uant
3 [ SIU Al d I i 36 el # W ¥ 3reban €4l 71fd are urgy <P &l 4R H
a1 gwg @ 2

1) 192 = e

(2) 108 e

3) 144 2

4) 160 2

1[Option ID=23789]
2[Option ID=23790]
3[Option ID=23791]
4[Option ID=23792]

Sl. No.25
QBID:344882




A retailer buys 40 pens at the marked price of 36 pens from a wholesaler. If he sells
these pens giving a discount of 1 %, what is the profit percentage?

1) 12
(2) 15
(3) 20
(4) 10

T HedR [ashdl 3 40 U7 &I Ui fashedl ¥ 36 T & 3ifthd Y19 R Wdiall g ag 3 ta
Bl 1% 9% (F2) W 991 &, Al STDI AT Ha=Id 18R 2

1) 12
(2) 15
(3) 20
(4) 10

1[Option ID=23797]
2[Option ID=23798]
3[Option ID=23799]
4[Option ID=23800]

Sl. No.26
QBID:344886

If the statement ‘No birds are mammals' is given as true, what could be immediately
inferred from it 7

A, "All birds are mammals’ is false

B. ‘Some birds are mammals’ is false

C. 'Some birds are not mammals’ is false
D. ‘Some birds are not mammals' is true

Choose the correct answer from the options given below:

(1) A Band Conly
(2) A BandDoenly
(3) AandD only
(4) AandConly

i Sty ois +i Ual TR Tl & 9 faul 71 8, df dap I ol SFAM Tl &l
&I 3 ?

A G UEll TRYRIEIA & Ed &

5. PO UM IR B E 3Ea §

C. TB UE WY TET8Id & ' 3T
D. TS U4 WA TR gl & I @
13 fag TG el A 9 w8 SR

(1) BT A B AR C
(2) BT A, B AR D
(3) AT A IR D
(4) HEAA AR C




1[Option ID=23805]
2[Option ID=23806]
3[Option ID=23807]
4[Option ID=23808]

Sl. No.27
QBID:344889

“X¥Z Home Finance offers best financial product in the country because like a family
member and a good friend XYZ Home Finance fulfills your need to have your own sweet

home". Which of the following fallacies is committed in this argument?

(1) Ad Populum
(2) Ad Hominem
(3) Hasty Generalisation
(4) Red Herring

"XYZ B B39 X H 9aY dea? (a0l SdIG SUaes &dl &, 3d11d XYZ UH UIaIRG
oW U4 U 3= T & T0 H ST AU R BH B AaRGhdl & R P &1 " 39
T 1 Fftiad TR & gard fad & -

(1) TS UlgeH

() TSEFH

(3) =y FHARIBI
(@) 3 2fE

1[Option ID=23813]
2[Option ID=23814]
3[Option ID=23815]
4[Option ID=23816]

Sl. No.28

QBID:344891

Given below are two statements :

Statement I: ‘Some S is P* is contrary to ‘Some S is not P".

Statement II: "Some S is not P" is contradictory to "All S is P

In light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

i al Py fRe U E

Y- 1: PSS, P o, TS S, Pel o Bl AU gl

DY - 1l: FS S, PTel o, GHT s, P & T TGN B

Sudad @Yl & Hdie H FEfaRed faeel § U 9gi w3 :

(1) BRI TT E

(2) T 1 AR 11 EHT HEA G

(3) BUF 1 A E, [ Y 1 AT B
(4) B 3T 2, B B 1 T B

1[Option ID=23821]
2[Option ID=23822]




3[Option ID=23823]
4[Option ID=23824]

Sl. No.29
QBID:344907

Given below are two statements :-

Statement I: For the Indian thinkers, inference (anumana) means only a syllogistic
inference based on the relation of invariable concomittance between middle term and
major term.

Statement II: There should be absence of the middle term wherever there is an absence
of the major term.

In light of the above statements, choose the correct answer from the options given

below :-

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
dr el oy lGu U g

DY - | HRAH Fddd! & AT oM &1 Y SHad T ® f19H 8, & 59 Ue AR
T8I g & ald HURad! ggafddl ey W Heid 3

TU - || : 6T o6l 4% UG @1 uieufd 8, 98 9 ug Squfyd g anfeul
Iudad ®YHl & eie H FHulaRad f[dsel § U 98 S| g :

(1) T | AR & TI B
(2) BYF 1 AR Il &H T 2|
(3) Y1 A ¢, [og DY 1 ST E |
(4) B | 3T ¢, fbg DY 11 TH B

1[Option ID=23829]
2[Option ID=23830]
3[Option ID=23831]
4[Option ID=23832]

Sl. No.30
QBID:344913

Given below are two statements:

Statement I: According to Classical Indian Logicians (Naiyayikas) the inference from the
effect of the cause is called Purvavat.

Statement II: According to Naiyayikas the inference of cause from the effect is not

possible.

In light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true




DY - | : URA YA JoRNRad] (ATl & H9R $ U SR &1 99H Jaad
Dol gl

DY - 1| - TR & HTHR B F HRU B HTHHE THT 781 5
Sudad @Yl & Hdie H FEfaRed faeel § U 9gi w3 :

(1) BRI TT E

(2) T 1 AR 11 EHT SHEA G

(3) U1 TAE, B P AT E |
(4) B 3T ¢, T dYH 11 TT B

1[Option ID=23837]
2[Option ID=23838]
3[Option ID=23839]
4[Option ID=23840]

Sl. No.31
QBID:344974

Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R.

Assertion A : In computer networking, a MODEM is considered as both input and

output device.

Reason R : MODEM sends data (upload/output) and receives data (download/input) at

the same time.

In light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Aistrue but Ris false
(4) A s false but R is true
TS YR RUTE : Ud B AHHYH (A) AR GWR S BRI (R) Bl T8

HFUEHYA (A) : DR Feald T & HisH @I 39YE 3R H3eye fasy aHf & &4 & 71
EiGI!

BRI (R) : AisH ST (HUAIS / H3eye) Uordl & 3R 4 GHF el (S3als / 574e) U
LG

IUdd HYHl & 3Telid H Fgifod fddedl § U W81 SR 9 :

(1) (A) ¥R (R) GHI ¥E1 & 3IR (R), (A) I TEI ARHT 51

(2) (A) 3R (R) GIFl Tl € U (R), (A) BT & R el B
(3) (A) ¥ B, R (R) A B

(4) (A) 3D B, W (R) I

1[Option ID=23845]

2[Option ID=23846]

3[Option ID=23847]
4[Option ID=23848]

Sl. No.32
QBID:344977

Programs that come into a computer system disguised as something else, are called:




(1) Trojan horses
(2) Viruses

(3) Web bugs
(4) Zombies

S U Us e} e o faddl 370 S2Ia9 & 9 3 Ude ol &, 9 ®el Jdl 6 :

(1) 2IoH B
(2) TEREA
(3) dFTY
(4) W=

1[Option ID=23853]
2[Option ID=23854]
3[Option ID=23855]
4[Option ID=23856]

Sl. No.33
QBID:344981

You have been instructed to install additional RAM into a computer by your teacher.
Identify the correct order of the following steps A-C that you should follow to install the
RAM safely.

A. Install RAM
B. Isolate computer from the power supply
C. Connect anti-static strap to wrist

Choose the correct answer from the cptions given below :

(1) A B C
(2) CAB
(3) B AC
(4) B.C A

H1uds e = HMud! [Hd dwgex & sifaftad 3 (RaM) S SR $X &1 s Gar |
FRfAIREd =T (A.-C) & US| 1 B UgdH BIoIU [ord] HYd gRI 11 & YREd &0 U
GRTTUT B2 & oY e a1 &7 diied |

A. T (RAM) &1 GRITT0T ST

B. B DI GIaR UETg 4 el BT
C. Bals R Ul - Vfa® &35 Fiem
Hid feu T fashenl # 9 w8l SR gH -

(1) A B C
(2) CAB
(3) B AC
(4) B, CA

1[Option ID=23861]
2[Option ID=23862]
3[Option ID=23863]
4[Option ID=23864]

Sl. No.34
QBID:344983




Given below are two statements :

Statement I: SWAYAM initiative is a significant step towards providing financial and
technical assistance to young start-up entrepreneurs.

Statement II: The tagline of Digilocker logo says "My Documents, Anytime, Anywhere".

In light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

DY - |- WUH Ygd 44l ®Ie Y Il @ a7 AR de-1a] Seradl WaH &3 &[G

¥ U% Ae@yYl oA ol

YA - || : EIIdIBR AT B &1 AR J el 1 6 : - “Hlg SiagHey, TRy, THigsR
JYfd O Geardw, [T off gag, Fal o1

Iudad ®YHl & eie H FHulaRad f[dsel § U 98 S| g :

(1) T | AR B TI B
(2) BYF 1 AR Il &H 3T 2|
(3) Y1 A ¢, (g DY 1 STHE |
(4) Y| 3T ¢, b DY 11 TH B

1[Option ID=23869]
2[Option ID=23870]
3[Option ID=23871]
4[Option ID=23872]

Sl. No.35
QBID:344987

Match List | with List 11

List | List Il

Computer Term
P Definition

. Wireless technology used for transmitting data over short

A. Spyware ,
Py distances
. Il. Software that allows the user to gain information about
B. Firewall . .
another person’s computer activity
IIl. An attack on a network which involves flooding the
C. Bluetooth , )
network with useless traffic
D. Denial of service IV. Hardware or software designed to protect a network by

controlling what data can and cannot enter

Choose the correct answer from the options given below:

1) A-1ILB-IV,C-1,D-1
(2) A-IV,B-Il,C-1II,D-I
3) A-LE-IV,C-Il,D-1lI
4) A-ILBE-IV,C-1,D-1l




Tl -1 B g -1l I gHRd Sifee :

i -l Tt -Il

(@I TG (@R

. | Y GRAI R ST TaId TR & U IUGRT &I o

A TR | SR R

; o Il TIRER S IUERTEHl Bl [hdl o safad & e

S daisl GmaAl & G U S & folg SAfd car g |

Jp— 111, Tt =eads R goen, o s & gramnd @

s HIEE |

o a1 V. BTS TR 41 UIreadR, ol U Head ol TR&T & Y

o SR TR &, 1 Sl & WAy 41 9 Wiap 7 UaH &l Fatd
P g

A feu e faswedl & 9 98 I g

1) A-1IILB-IV,C-1, D-1l
(2) A-IV,B-1l,C-1ll, D-1
3) A-LE-IV.C-Il, D-1
(4) A-ILB-IV,C-1, D-1l

1[Option ID=23877]
2[Option ID=23878]
3[Option ID=23879]
4[Option ID=23880]

Sl. No.36
QBID:344989

Which of the following air pollutants is known to be a human carcinogen?

(1) Carbon menoxide

(2) Asbestos fiber

(3) Nitrogen dioxide

(4) Sulphur dicxide

9Td H ¥ ®H 91 Ughd 398 H HIR &1 HRU & 9obdl § ?

(1) FEAIAEES
(2) TEEY

(3) AECOH SRHEIES

(4) Th SE3aES

1[Option ID=23885]
2[Option ID=23886]
3[Option ID=23887]
4[Option ID=23888]

Sl. No.37
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Which region of India experiences the maximum number of cyclones?

(1) East Coast

(2) West Coast

(3) Central India

(4) Northern India

YR & B H &7 F Ighard gaiiie S H B 7
(1) gdi=e

(2)




g are
(3) T Yd
(4) IR URA

1[Option ID=23893]
2[Option ID=23894]
3[Option ID=23895]
4[Option ID=23896]

Sl. No.38
QBID:344992
Which of the following statements about bicdiversity are correct?
A. Biodiversity can support ecosystem stability.
B. Human activities have sharply increased species extinctions.
C. Habitat fragmentation has no adverse impact on bicdiversity.

D. About 70 % of all known species are invertebrates.

Choose the correct answer from the options given below:

(1) A Band Conly
(2) A BandD only
(3) B,Cand D only
(4) A CandD only

BRI R e A B G O i A o AT e e e
A TIRFTST & ®1iE | uig fafayar 9eaa el &1

B. AdIE Tfafafiat 3 wenfaat & faqadr of ot F 9e1 faan 2|

C. U idd A & fadsd &1 94 - f&fayd ) &I gvd Tl Usdi g |
D. TATHAT 70 Ufarrd wenfoar Sgg4eht @afdse) 21

it feg e fadedl F ¥ v S -

(1) HIAA, B AR C
(2) HIAA, B AR D
(3) HATB, C AR D
(4) HIAA, CHRD

1[Option ID=23901]
2[Option ID=23902]
3[Option ID=23903]
4[Option ID=23904]

Sl. No.39
QBID:344995
Identify the major sources of methane emissions:
A. Landfills
B. Mountain rivers
C. Paddy fields

D. Wetlands

Choose the correct answer from the options given below:

(1) A Band Conly




(2) g, Cand D only
(3) A BandDoenly
(4) A CandD only

HiY= IoHoH & UE Fidl &l Uga-g
A. TS Tthel

B. Uddiy Afedl

C. ¥H & Wd

D. SToHT YiH

e feu o fasenl H 9 9el ST 9 -
(1) FATA, B AR C

(2) HATB, C AR D

(3) TATA, BIAR D
(4) TATA, C3RD

1[Option ID=23909]
2[Option ID=23910]
3[Option ID=23911]
4[Option ID=23912]

Sl. No.40
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Match List | with List 11

List | List Il
Objectives/Provisions International treaties/Agreements
A. Emissions Trading |. Paris Agreement
B. Sustainable Management of Resources Il. Kyoto Protocol
C. Clean affordable energy lIl. International Solar Alliance
D. Intended Nationally Determined . .
) : V. Rio Summit
Contributions

Choose the correct answer from the options given below:
) A-ILB-IV,C-1,D-1I
(2) A-ILB-IV,C-1ILD-1I
G) A-LE-IV,C-U,D-1I
(4) A-LB-IV,C-1I,D-1I

Tl -1 B g -1l I gHRd Sifee :

i -l Il

(SE=4 / WIGYF) (RIS il / FHEid )
A, IeHoH AR 1. OfeT Tt

B. T1EET &1 Iad Hay II. FTel Aieidia

C. =3 de-1d ol Il 3fERIPTY YR 36
D. 3fasd TPl AR W AyiRka are  |iv. Rl R wwieA

A feu T faswedl & 9 98 I g

@) A-ILBE-IV,C-1,D-1l
(2) A-ILB-IV,C-1ll, D-1
3) A-LE-IV,C-UI,D-1
4 A-LE-IV,C-1l,D-1lI




1[Option ID=23917]
2[Option ID=23918]
3[Option ID=23919]
4[Option ID=23920]

Sl. No.41
QBID:344999

Who is fully credited with the introduction of English education system in India, officially
through the necessary order issued by Bentinck, the Governor-General of India on 7%
March 18357

(1) Zachary Macaulay
(2) Thomas Babington Macaulay
(3) Alexander Duff

(4) Charles Trevelyan

fafafad 9 ferge! 7 919 1835 B YRA & a8 - 9FRd die-d gRI SRl fad 1Y
HIGGE HIGH & HITH U HHHEREG 0 H HRd H U fR1gn uoneht ar] &4 &1 quf 99
fearama g 2

(1) SR Habld

(2) 4rAg Sfdres Asid

(3) Tidasl 3h

(4) 91 TIH

1[Option ID=23925]
2[Option ID=23926]
3[Option ID=23927]
4[Option ID=23928]

Sl. No.42
QBID:345001

Which University did Xuang Zang and | Quing visit in India?

(1) Nalanda University
(2) Takshashila University
(3) Banaras Hindu University

(4) Vikramshila University

T T AR 13 T e ¥ ¥ i yamg b emu 4

(1) Arcier fqyfaarag

(2) deifer fgyfaey
(3) §9RY fg=g fayfaeay
(4) faspaiRre fayfaerag

1[Option ID=23933]
2[Option ID=23934]
3[Option ID=23935]
4[Option ID=23936]

Sl. No.43
QBID:345002

NSSF, as envisaged by the National Knowledge Commission, stands for

(1) National Science and Social Science Foundation
(2) National Scientific and Social Science Foundation
(3) National Scientists and Social Scientists Foundation

(4) National Space Science and Society Forum




T A GR1 URSIedd T T8 T8 U6 &1 U AH & -

(1) T OET US 9199 9Ed BidesH

(2) 9T SEh® US OEd 95d Bré s
(3) "TFT TRECTY U8 TN HEiced BrdsyH
(4) =TT WY TEY US 9idEd BRA

2[option D=23942]

3[Option ID=23943]
4[Option ID=23944]

Sl. No.44
QBID:345679

As per NEP 2020, National Educational Technology Forum (NETF) will have following

functions:

A. Provide independent evidence-based advice to central and state government

agencies in technology-based interventions

B. Articulate new directions for research and innovation

C. Envision strategic thrust area in the educational technology domain

D. Develop curriculum for technical courses

E. Build intellectual and institutional capacities in educational technology

Choose the correct answer from the options given below:

(1) A B CandD only
(2) B,C DandEonly
(3) A B, CandEonly
(4) A B, DandEonly

T Ul 2020 B FIER AP A WIS BRA (T3 1 UH) & FHgfaiad 5 8§ $H 8
FRI B 2

A, U] - ST Ugal & aR H $5 0 3R A0 B Tl &l e - S1uid Wod
Helg HalH @Al

B. BMY 3R 9G4 & U G2 & ¥ BT

c. A& Wefe! & &7 ¥ oM ¥ ¥ 797 99 -&3 of uRea1 &

D. T@-iich1 UTauehHl & [T UTaa=l fasiid &

E. e Wefe! 7 i Td SFTd & &1 Haf

e fen T fasenl o ¥ Wel S A -

(1) HATA, B, C 3R D
(2) Haq 8, C, DARE
(3) Bad A, B, CARE
(4) BATA, B, D AR E

1[Option ID=23949]
2[Option ID=23950]
3[Option ID=23951]
4[Option ID=23952]

Sl. No.45
QBID:345682




The following are the main objectives of curriculum revision:
A. To align it better with vision and mission of the institution
B. To make it learning outcome based

C. To make it more effective in improving attainment levels against programme
outcomes

D. To develop capacities of students for competitive examination
E. To meet the expectations of all stakeholders

Choose the correct answer from the options given below:

(1) A B CandD only

(2) A B, CandEonly

(3) A C DandEonly

(4) B,C DandEonly

Fafcied 7 9 @ 9 ureydd] S2ie- © 98 3539 & 7

A, U= 31 g (fGe) SR fRF & 9 1 seR ©0 3 I~
ERIGI

B. & &1 Uf¥ums - 21enfd ST

C. BAGHH & uRomH! &1 o1 J TR Uit & R H it gHmd
AT

D. Uit udiansif & fore 1At &1 amarstl @ [aeid o
E. ol fequra®l &1 Sruansil &1 gid &A1
Hid feu T fashenl # 9 w8l SR gH -

(1) HATA, B, C 3R D
(2) HaTA, B, CHARE
(3) BATA, C, D HARE
(4) Haa 8, C, DARE

1[Option ID=23957]
2[Option ID=23958]
3[Option ID=23959]
4[Option ID=23960]

Sl. No.46
QBID:345666




Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1300
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gascline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




Ferafefa et #1 wrrgde ufeg o fag g wait & I diferg

Tgd 4 98 A THRI & URY H Ay 3R U &1 I HA1 USd1 31 gl Sgldl ol
HiFsHR Wi uare el U1l T §gd § gl 4 o 17 GHeR 1903 $1 Ugel Widagad
ISH & aR H A1 dl 9 Juiford SR quifad §U g &sdl 7 58 & dolat 4§ ufafear €|
agaH ®1 33 @ f[99R $w faadl @l wdiend o, 08 safdaat 3 ugedl SSH 721 &
HIHRSI, faeaR 2R ARG IgT S A & TR 01, R ToREFD Uiaihan
U2 B! A g Gl | T HTHAY B TG T D1 Uad 331 9 S5l [aHFH & Jgrt
@1 SR 3|

famar 3R mfaq w5e @ e84 faum fagm ok 47 fagm & wwies s 4 Sed 3
Tsd ¥ dl 9 IdT IR Tife fGae s9@ 9 3% s9ar ¥ ifld @ed 41 916 3, 84
TaER LF] G2l arsd grefl =T Gl PSR S,
501 U &1 i i SR aguRed I ©f gBH @I 9idiied fearl 1896 H, o
I 3l fociyd @ g & 9 | Ugl o U3e syl 31 ISH § e &4 8 TSl
YT 871 WEfET & I UY UGH® + 304 IXR @I a3 G2 § RIFdRd did
Teed @ Al i 4Tl Tei e [deR Use syl & [ Gevs o1, 3= fauH-ared
qeHl & Sqad @i FHEA & Y s#fte sriem fafiat & aR § SHeR! 9| 311 1900 SR
1901 ¥, 3y H 4= Wy (ldudu &1 udiam G SR FrEv de-iel @ Gefad
i @gsd @ YAl ST &l WaH - & auddl 5 Higdl &l e SOAl
FHITAE B BIS- BT AR IHTE B 61 U7

HR S LT & 91 e §¢ 4 Fpy Haa 6 9% ygl W ag gad @1 Yl
qifereng My dR W Ted 8rM IS TP a1g & GO & R a1 SR giomE ol
o YT @1 U 40 URY @11 390 WAl & SR GG & 1Y GWHT difiaei FRE &1 T
TY1 3dh I WX dsh GBI UR G dld o (oY U a4 fidg ford U1 39 & & Ba
WeY ey Sy gRT UL HH BT Sy AR B 4G gl &l 3§ Havall 411 1903 H
e HISdl 5 Ugdl aggH &1 @ dRd 1000 SieR I &9 4T 3= 0H Td & 9
g G - TP oo YR Jd 4H 3o @1 ufawey of qar faar iR [ fean o9
IeiH e 17 Bl 39 URY a1 dl 38 U Ugd arggH § ddem=n $rA gafl| e off
arga 12 Ydre 0P HUR WaHH el 3R 120 He 331

1905 G I152H - Ugd a-gUH @I a1 64 B (o1 o1 [ 98 Us 9o H 31, gHA1 g 319
H¢ 9@ gal § 38 Udhdl 4T GWRI A TeER( 3R 87 Wged 4 3oM ¥ off, i I5e &Y ugdl
¥ 5 Uuf @R @1 7= &415 4 & & o =ida U IS gddl | 3fae™ o safis
faf sfimife Suafen § areM ¢ & BRU A3 443 B aAH dIeH &1 SHd del
ST 9aiid 39 g

Which of the following was responsible for the invention of the first flying machine?

(1) People's support
(2) Negative reactions of the people
(3) Compelling desire of the inventors

(4) Previous experiments in aviation

Fofafad o ° wyd 334 gl 93H & SifowR & fou a1 STRer! ut 2

(1) ATl &I 3@ad

(2) G B THRHAS Uidfhud
(3) HAPRS B iR AfHemyr
() faumA o gdadl W

1[Option ID=23965]
2[Option ID=23966]
3[Option ID=23967]
4[Option ID=23968]

Sl. No.47
QBID:345668




Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1300
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gascline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




Ferafefa et #1 wrrgde ufeg o fag g wait & I diferg

Tgd 4 98 A THRI & URY H Ay 3R U &1 I HA1 USd1 31 gl Sgldl ol
HiFsHR Wi uare el U1l T §gd § gl 4 o 17 GHeR 1903 $1 Ugel Widagad
ISH & aR H A1 dl 9 Juiford SR quifad §U g &sdl 7 58 & dolat 4§ ufafear €|
agaH ®1 33 @ f[99R $w faadl @l wdiend o, 08 safdaat 3 ugedl SSH 721 &
HIHRSI, faeaR 2R ARG IgT S A & TR 01, R ToREFD Uiaihan
U2 B! A g Gl | T HTHAY B TG T D1 Uad 331 9 S5l [aHFH & Jgrt
@1 SR 3|

famar 3R mfaq w5e @ e84 faum fagm ok 47 fagm & wwies s 4 Sed 3
Tsd ¥ dl 9 IdT IR Tife fGae s9@ 9 3% s9ar ¥ ifld @ed 41 916 3, 84
TaER LF] G2l arsd grefl =T Gl PSR S,
501 U &1 i i SR aguRed I ©f gBH @I 9idiied fearl 1896 H, o
I 3l fociyd @ g & 9 | Ugl o U3e syl 31 ISH § e &4 8 TSl
YT 871 WEfET & I UY UGH® + 304 IXR @I a3 G2 § RIFdRd did
Teed @ Al i 4Tl Tei e [deR Use syl & [ Gevs o1, 3= fauH-ared
qeHl & Sqad @i FHEA & Y s#fte sriem fafiat & aR § SHeR! 9| 311 1900 SR
1901 ¥, 3y H 4= Wy (ldudu &1 udiam G SR FrEv de-iel @ Gefad
i @gsd @ YAl ST &l WaH - & auddl 5 Higdl &l e SOAl
FHITAE B BIS- BT AR IHTE B 61 U7

HR S LT & 91 e §¢ 4 Fpy Haa 6 9% ygl W ag gad @1 Yl
qifereng My dR W Ted 8rM IS TP a1g & GO & R a1 SR giomE ol
o YT @1 U 40 URY @11 390 WAl & SR GG & 1Y GWHT difiaei FRE &1 T
TY1 3dh I WX dsh GBI UR G dld o (oY U a4 fidg ford U1 39 & & Ba
WeY ey Sy gRT UL HH BT Sy AR B 4G gl &l 3§ Havall 411 1903 H
e HISdl 5 Ugdl aggH &1 @ dRd 1000 SieR I &9 4T 3= 0H Td & 9
g G - TP oo YR Jd 4H 3o @1 ufawey of qar faar iR [ fean o9
IeiH e 17 Bl 39 URY a1 dl 38 U Ugd arggH § ddem=n $rA gafl| e off
arga 12 Ydre 0P HUR WaHH el 3R 120 He 331

1905 G I152H - Ugd a-gUH @I a1 64 B (o1 o1 [ 98 Us 9o H 31, gHA1 g 319
H¢ 9@ gal § 38 Udhdl 4T GWRI A TeER( 3R 87 Wged 4 3oM ¥ off, i I5e &Y ugdl
¥ 5 Uuf @R @1 7= &415 4 & & o =ida U IS gddl | 3fae™ o safis
faf sfimife Suafen § areM ¢ & BRU A3 443 B aAH dIeH &1 SHd del
ST 9aiid 39 g

The major interest of Wright brothers was in

(1) Making kites

(2) Producing mechanical toys

(3) Designing newspaper-folding machines

(4) Methods to control airborne vehicles

3y gyl B ugE Eid 4

(1) Gl & A

() gif® fEcd &1 |

(3) YR T & His- &1 7% & ifidsicdd & J
(4) argdiied g & FafEd B3 @1 faftal §

1[Option ID=23973]
2[Option ID=23974]
3[Option ID=23975]
4[Option ID=23976]

Sl. No.48
QBID:345670




Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1300
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gascline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




Ferafefa et #1 wrrgde ufeg o fag g wait & I diferg

Tgd 4 98 A THRI & URY H Ay 3R U &1 I HA1 USd1 31 gl Sgldl ol
HiFsHR Wi uare el U1l T §gd § gl 4 o 17 GHeR 1903 $1 Ugel Widagad
ISH & aR H A1 dl 9 Juiford SR quifad §U g &sdl 7 58 & dolat 4§ ufafear €|
agaH ®1 33 @ f[99R $w faadl @l wdiend o, 08 safdaat 3 ugedl SSH 721 &
HIHRSI, faeaR 2R ARG IgT S A & TR 01, R ToREFD Uiaihan
U2 B! A g Gl | T HTHAY B TG T D1 Uad 331 9 S5l [aHFH & Jgrt
@1 SR 3|

famar 3R mfaq w5e @ e84 faum fagm ok 47 fagm & wwies s 4 Sed 3
Tsd ¥ dl 9 IdT IR Tife fGae s9@ 9 3% s9ar ¥ ifld @ed 41 916 3, 84
TaER LF] G2l arsd grefl =T Gl PSR S,
501 U &1 i i SR aguRed I ©f gBH @I 9idiied fearl 1896 H, o
I 3l fociyd @ g & 9 | Ugl o U3e syl 31 ISH § e &4 8 TSl
YT 871 WEfET & I UY UGH® + 304 IXR @I a3 G2 § RIFdRd did
Teed @ Al i 4Tl Tei e [deR Use syl & [ Gevs o1, 3= fauH-ared
qeHl & Sqad @i FHEA & Y s#fte sriem fafiat & aR § SHeR! 9| 311 1900 SR
1901 ¥, 3y H 4= Wy (ldudu &1 udiam G SR FrEv de-iel @ Gefad
i @gsd @ YAl ST &l WaH - & auddl 5 Higdl &l e SOAl
FHITAE B BIS- BT AR IHTE B 61 U7

HR S LT & 91 e §¢ 4 Fpy Haa 6 9% ygl W ag gad @1 Yl
qifereng My dR W Ted 8rM IS TP a1g & GO & R a1 SR giomE ol
o YT @1 U 40 URY @11 390 WAl & SR GG & 1Y GWHT difiaei FRE &1 T
TY1 3dh I WX dsh GBI UR G dld o (oY U a4 fidg ford U1 39 & & Ba
WeY ey Sy gRT UL HH BT Sy AR B 4G gl &l 3§ Havall 411 1903 H
e HISdl 5 Ugdl aggH &1 @ dRd 1000 SieR I &9 4T 3= 0H Td & 9
g G - TP oo YR Jd 4H 3o @1 ufawey of qar faar iR [ fean o9
IeiH e 17 Bl 39 URY a1 dl 38 U Ugd arggH § ddem=n $rA gafl| e off
arga 12 Ydre 0P HUR WaHH el 3R 120 He 331

1905 G I152H - Ugd a-gUH @I a1 64 B (o1 o1 [ 98 Us 9o H 31, gHA1 g 319
H¢ 9@ gal § 38 Udhdl 4T GWRI A TeER( 3R 87 Wged 4 3oM ¥ off, i I5e &Y ugdl
¥ 5 Uuf @R @1 7= &415 4 & & o =ida U IS gddl | 3fae™ o safis
faf sfimife Suafen § areM ¢ & BRU A3 443 B aAH dIeH &1 SHd del
ST 9aiid 39 g

The Wright brothers succeeded in

(1) Testing numerous gliders

(2) Proving previous air pressure tables wrong

(3) Setting up a wind tunnel

(4) Finding desired direction for gliders
3y Syl B Tl e

(1) TF @RSy & e o

(2) el 9 ge1d difciaeTd Tad g &3 o

(3) Ag &I G DI WIMGd B3 o

(4) W3Sy & o gifd R yd s |

1[Option ID=23981]
2[Option ID=23982]
3[Option ID=23983]
4[Option ID=23984]
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Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1300
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gascline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




Ferafefa et #1 wrrgde ufeg o fag g wait & I diferg

Tgd 4 98 A THRI & URY H Ay 3R U &1 I HA1 USd1 31 gl Sgldl ol
HiFsHR Wi uare el U1l T §gd § gl 4 o 17 GHeR 1903 $1 Ugel Widagad
ISH & aR H A1 dl 9 Juiford SR quifad §U g &sdl 7 58 & dolat 4§ ufafear €|
agaH ®1 33 @ f[99R $w faadl @l wdiend o, 08 safdaat 3 ugedl SSH 721 &
HIHRSI, faeaR 2R ARG IgT S A & TR 01, R ToREFD Uiaihan
U2 B! A g Gl | T HTHAY B TG T D1 Uad 331 9 S5l [aHFH & Jgrt
@1 SR 3|

famar 3R mfaq w5e @ e84 faum fagm ok 47 fagm & wwies s 4 Sed 3
Tsd ¥ dl 9 IdT IR Tife fGae s9@ 9 3% s9ar ¥ ifld @ed 41 916 3, 84
TaER LF] G2l arsd grefl =T Gl PSR S,
501 U &1 i i SR aguRed I ©f gBH @I 9idiied fearl 1896 H, o
I 3l fociyd @ g & 9 | Ugl o U3e syl 31 ISH § e &4 8 TSl
YT 871 WEfET & I UY UGH® + 304 IXR @I a3 G2 § RIFdRd did
Teed @ Al i 4Tl Tei e [deR Use syl & [ Gevs o1, 3= fauH-ared
qeHl & Sqad @i FHEA & Y s#fte sriem fafiat & aR § SHeR! 9| 311 1900 SR
1901 ¥, 3y H 4= Wy (ldudu &1 udiam G SR FrEv de-iel @ Gefad
i @gsd @ YAl ST &l WaH - & auddl 5 Higdl &l e SOAl
FHITAE B BIS- BT AR IHTE B 61 U7

HR S LT & 91 e §¢ 4 Fpy Haa 6 9% ygl W ag gad @1 Yl
qifereng My dR W Ted 8rM IS TP a1g & GO & R a1 SR giomE ol
o YT @1 U 40 URY @11 390 WAl & SR GG & 1Y GWHT difiaei FRE &1 T
TY1 3dh I WX dsh GBI UR G dld o (oY U a4 fidg ford U1 39 & & Ba
WeY ey Sy gRT UL HH BT Sy AR B 4G gl &l 3§ Havall 411 1903 H
e HISdl 5 Ugdl aggH &1 @ dRd 1000 SieR I &9 4T 3= 0H Td & 9
g G - TP oo YR Jd 4H 3o @1 ufawey of qar faar iR [ fean o9
IeiH e 17 Bl 39 URY a1 dl 38 U Ugd arggH § ddem=n $rA gafl| e off
arga 12 Ydre 0P HUR WaHH el 3R 120 He 331

1905 G I152H - Ugd a-gUH @I a1 64 B (o1 o1 [ 98 Us 9o H 31, gHA1 g 319
H¢ 9@ gal § 38 Udhdl 4T GWRI A TeER( 3R 87 Wged 4 3oM ¥ off, i I5e &Y ugdl
¥ 5 Uuf @R @1 7= &415 4 & & o =ida U IS gddl | 3fae™ o safis
faf sfimife Suafen § areM ¢ & BRU A3 443 B aAH dIeH &1 SHd del
ST 9aiid 39 g

The Wright brothers were ultimately successful in flying their plane when they built their
own

(1) Air pressure system
(2) Meodel wings

(3) Gasoline engine
(4) Curved surfaces

32y 9y 3idd: Ul G0F 35 O Uhd gU o 94 AU T faan s @

(1) drg GaTd Yoreit
(2) HigAHE UG

(3) TG goA
(4) IF T

1[Option ID=23989]
2[Option ID=23990]
3[Option ID=23991]
4[Option ID=23992]




Sl. No.50
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Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1300
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gascline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




Ferafefa et #1 wrrgde ufeg o fag g wait & I diferg

Tgd 4 98 A THRI & URY H Ay 3R U &1 I HA1 USd1 31 gl Sgldl ol
HiFsHR Wi uare el U1l T §gd § gl 4 o 17 GHeR 1903 $1 Ugel Widagad
ISH & aR H A1 dl 9 Juiford SR quifad §U g &sdl 7 58 & dolat 4§ ufafear €|
agaH ®1 33 @ f[99R $w faadl @l wdiend o, 08 safdaat 3 ugedl SSH 721 &
HIHRSI, faeaR 2R ARG IgT S A & TR 01, R ToREFD Uiaihan
U2 B! A g Gl | T HTHAY B TG T D1 Uad 331 9 S5l [aHFH & Jgrt
@1 SR 3|

famar 3R mfaq w5e @ e84 faum fagm ok 47 fagm & wwies s 4 Sed 3
Tsd ¥ dl 9 IdT IR Tife fGae s9@ 9 3% s9ar ¥ ifld @ed 41 916 3, 84
TaER LF] G2l arsd grefl =T Gl PSR S,
501 U &1 i i SR aguRed I ©f gBH @I 9idiied fearl 1896 H, o
I 3l fociyd @ g & 9 | Ugl o U3e syl 31 ISH § e &4 8 TSl
YT 871 WEfET & I UY UGH® + 304 IXR @I a3 G2 § RIFdRd did
Teed @ Al i 4Tl Tei e [deR Use syl & [ Gevs o1, 3= fauH-ared
qeHl & Sqad @i FHEA & Y s#fte sriem fafiat & aR § SHeR! 9| 311 1900 SR
1901 ¥, 3y H 4= Wy (ldudu &1 udiam G SR FrEv de-iel @ Gefad
i @gsd @ YAl ST &l WaH - & auddl 5 Higdl &l e SOAl
FHITAE B BIS- BT AR IHTE B 61 U7

HR S LT & 91 e §¢ 4 Fpy Haa 6 9% ygl W ag gad @1 Yl
qifereng My dR W Ted 8rM IS TP a1g & GO & R a1 SR giomE ol
o YT @1 U 40 URY @11 390 WAl & SR GG & 1Y GWHT difiaei FRE &1 T
TY1 3dh I WX dsh GBI UR G dld o (oY U a4 fidg ford U1 39 & & Ba
WeY ey Sy gRT UL HH BT Sy AR B 4G gl &l 3§ Havall 411 1903 H
e HISdl 5 Ugdl aggH &1 @ dRd 1000 SieR I &9 4T 3= 0H Td & 9
g G - TP oo YR Jd 4H 3o @1 ufawey of qar faar iR [ fean o9
IeiH e 17 Bl 39 URY a1 dl 38 U Ugd arggH § ddem=n $rA gafl| e off
arga 12 Ydre 0P HUR WaHH el 3R 120 He 331

1905 G I152H - Ugd a-gUH @I a1 64 B (o1 o1 [ 98 Us 9o H 31, gHA1 g 319
H¢ 9@ gal § 38 Udhdl 4T GWRI A TeER( 3R 87 Wged 4 3oM ¥ off, i I5e &Y ugdl
¥ 5 Uuf @R @1 7= &415 4 & & o =ida U IS gddl | 3fae™ o safis
faf sfimife Suafen § areM ¢ & BRU A3 443 B aAH dIeH &1 SHd del
ST 9aiid 39 g

The passage points out that

(1) Determination to succeed pays dividends

(2) People are always skeptical of inventors

(3) The due credit to gliders has not been given

(4) Small efforts in different sectors lead to a major invention in one sector
el Havd Sl § 1B

(1) HBT EH B YT TH &1 8

(2) A HET HTDRD! b Uid TPRIG &1 &

(3) TESH B ITP! 47 Tl e mar g

(4) Tz &t & BIE-81 DI U@ & 4 3 AfaspR & uford g1 =i §

1[Option ID=23997]
2[Option ID=23998]
3[Option ID=23999]
4[Option ID=24000]

Sl. No.51
QBID:329280




In the series of National Family Health surveys, the most recent (2019-20) is

(1) NFHS -3
(2) NFHS - 4
(3) NFHS -5
(4) NFHS - 6
Py URAR T Gaeuil S 4Ee § Gad BIc 81 (2019-20) P18 :

1) U1 Th.UHTUE-3
(2) U4 Uh UduH-4
(3) U1 Th.UATUH-5
(4) U1 Th.UATUH-6

1[Option ID=24005]
2[Option ID=24006]
3[Option ID=24007]
4[Option ID=24008]

Sl. No.52
QBID:329292

Deficiency of intrinsic factor leads to -

(1) Megaloblastic anaemia and folate deficiency
(2) Microcytic anaemia and Iron deficiency

(3) Sickle cell anaemia and Zinc deficiency

(4) Pernicious anaemia and vitamin By deficiency

3 PR &1 13 [T AF UERd H3dl &

(1) HITAEARe® THHAT AR Bicie @1 dHl
(2) ARHMECH THIHA AR T8 &1 S

(3) Foma Oa i R e @ o8

(4) WRFRETY v R Gerftm &, @ o

1[Option ID=24013]
2[Option ID=24014]
3[Option ID=24015]
4[Option ID=24016]

Sl. No.53
QBID:329298

The amount of Carbon dioxide produced by the body divided by the Oxygen consumed by
the body in metabolizing the dietary intake, is known as -

(1) Respiratory discharge ratio
(2) Respiratory exchange ratio
(3) Cardiac discharge ratio

(4) Cardiac exchange ratio

IR ERI 3UITAId B 813 HGHISS BT [THEH od HERY 099 & GRH TR R
U BT T Frelt Hee A S e A s PEd & -

(1) JERe fewrs e

(2) TR S e

(3) BISTD fwars A

(4) PISUD T L3




1[Option ID=24021]
2[Option ID=24022]
3[Option ID=24023]
4[Option ID=24024]

Sl. No.54
QBID:329302

A food frequency questionnaire generally consists of-

(1) A list of random frequencies and food production response categories
(2) A list of random frequencies and food distribution response categories
(3) A list of foods and frequency-of-buying response categories

(4) A list of foods and frequency-of-use (consumption) response categories

MR & IR Yaet uamac § gHE=d: 9id gidl o -

(1) Il SRR SR We Sdied SHfHar STl of U gl

(2) FrefEsd SRS SR @ faarul sifshar STl of U gl

(3) WY T3 HR FH DI GRSl a1 410f &1 U gl

(4) T T3 R IYGNT / SUHFT B SREIRAT Hfspa1 SRl 1 v it

1[Option ID=24029]
2[Option ID=24030]
3[Option ID=24031]
4[Option ID=24032]

Sl. No.55
QBID:329307

If height of an adult woman is 150 cm, ideal weight as calculated by Broca's index will be -
(1) 100.0 kg
(2) 75.0 kg
(3) 50.0 kg
(4) 455 kg
1% {64 9o Afgal &1 $a 150 YHIR 3 @ §id1 & Gadid gRI 39D HGR du-
@1 0T B
(1) 100 far
(2) 75.0 fou
(3) 50,0 fa
(4) 455 fou1

1[Option ID=24037]
2[Option ID=24038]
3[Option ID=24039]
4[Option ID=24040]

Sl. No.56
QBID:329311

If an owner of food service unit takes a multidirectional approach, but falls short on
coordination and integration. The term that best describes this approach is -

(1) Selective method approach
(2) Multiplier method approach
(3) Support systems approach

(4) Shotgun approach

i @re Ual &1 U HIlcid dg-[GEd SUFTH HUAT 8, S §HaY R UHIant &
TR ®H B HeRH &dl & dl 39 SUFTH $I fbd SUFH & U § ¥arad quid G o

ol :




1) gD f49fe Iur™
(2) Ui fafer I

(3) gHUA yunfergi U
(4) DIeTH IUFH

1[Option ID=24045]
2[Option ID=24046]
3[Option ID=24047]
4[Option ID=24048]

Sl. No.57
QBID:329313

The microbiological entity most commonly used as an indicator of pathogens in water, a

practice that has been extended to foods, is

(1) Coliform
(2) salmonella
(3) Coirform

(4) Plasmonella

5 ¥ QUi & U@ Gdhde® & 39§ gailde IHE=d: SUanT it oH &1 adia,
e @ el o foar fear g, 9 8

(1) DI
(2) T
(3) BIRGH
(4) ErEHE

1[Option ID=24053]
2[Option ID=24054]
3[Option ID=24055]
4[Option ID=24056]

Sl. No.58
QBID:329316

Which of the following is a plant fibre?

(1) Vicuna
(2) Sisal

(3) Aramid
(4) Anidex

g d 9 sH-ar areu e 2

(1) fa@r
(2) HHa
(3) HS
(4) s

1[Option ID=24061]
2[Option ID=24062]
3[Option ID=24063]
4[Option ID=24064]

Sl. No.59
QBID:329321

Which of the following fabrics is a weft knit fabric made with knit and tuck stitches creating

an open mesh structure?

(1) Anidex

(2) Lame

(3) Lacoste




(4) Lastrile

fafeiad & 9 -9 $UST UE ol FeiaR a1 §-H & U §H18 3R o6 ol 9
& §U I §15 Al dUsl g

(1) s
(2) @9

(3) d@Ee
(4) dEd

1[Option ID=24069]
2[Option ID=24070]
3[Option ID=24071]
4[Option ID=24072]

Sl. No.60
QBID:329325

Which of the following is a closely woven fabric with a pebbly surface produced by a dobby

attachment?

(1) Barathea
(2) Balbriggan
(3) Bengaline

(4) Bark cloth
Tadt STal Yome gRI1 3dlcd GHGR Jdg adl Big (dbe 30 9 g1 g Hua
e g sH-w e

(1) SR

(2) SAfH

(3) dTaEA

(4) a1 &Y

1[Option ID=24077]
2[Option ID=24078]
3[Option ID=24079]
4[Option ID=24080]

Sl. No.61
QBID:329327

GOTS stands for:
(1) Green Organic Textile Standard
(2) Green Organic Testing Standard
(3) Global Organic Textile Standard

(4) Global Organic Testing Standard

St Aoy SO Am g

(1) ¥F FTHT caaesd ©59
(2) J9 s e ss
(3) TTEAAFIHS caaed 58

(4) EET FFA® T EEs

1[Option ID=24085]
2[Option ID=24086]
3[Option ID=24087]
4[Option ID=24088]

Sl. No.62
QBID:329330

The cross-sectional view of a mercerised cotton fibre under the microscope looks




1) Kidney shaped
(2) Round
(3) Trilobal

(4) Polygonal

YETER & e DIE TULPHd HUTY 3 BT S0 27 U Udd aldl & ?

(1) FEPIHR
(2) TTABR
(3) FEsIg
(4) g4

1[Option ID=24093]
2[Option ID=24094]
3[Option ID=24095]
4[Option ID=24096]

Sl. No.63
QBID:329332

Which of the following is a long full sleeve gathered on a narrow cuff?

(1) Tulip

(2) Bishops

(3) Saddler

(4) Raglan
fafefed d o Yol o% W uefod ddl QUi sig § 2
(1) &fed

(2) fa=ryg

(3) SR

(4) WEA
1[Option ID=24101]
2[Option ID=24102]

3[Option ID=24103]
4[Option ID=24104]

Sl. No.64
QBID:329334

Which of the following is not a fashion adoption theory?

(1) Trickle down

(2) Trickle across

(3) Trickle diagonal

(4) Trickle up

frofafed o O &H-0 @ BeF sifie fugia e e
(1) b 3134

(2) fepawp™

(3) Eod sEFTAa

(4) g U

1[Option ID=24109]
2[Option ID=24110]
3[Option ID=24111]
4[Option ID=24112]

Sl. No.65
QBID:329336




According to the type of business which one of the following
is NOT classified as an entrepreneur

(1) Wholesale trade
(2) Retail Trade
(3) Exporters

(4) Rural entrepreneur

IR & UHR & ER HafEa # g 3 & vu d oiied 78 o g -

(1) Y@ AR
(2) G AR
(3) Fafds

(4) TTHT ITH

1[Option ID=24117]
2[Option ID=24118]
3[Option ID=24119]
4[Option ID=24120]

Sl. No.66
QBID:329337

The daylight quotient at any point inside the room is

(1) Lux

(2) Glare

(3) Intensity of light
(4) Blaze

TR IRGN R TIBR & T 6 :

(1) T
(2) i

(3) UDH DI digdl
(4) IHF

1[Option ID=24125]
2[Option ID=24126]
3[Option ID=24127]
4[Option ID=24128]

Sl. No.67
QBID:329341

Act that governs consumer disputes is
(1) Consumer Protection Act

(2) Restrictive Trade Practices Act

(3) MRTP Act

(4) Prevention of Food Adulteration Act

HfAfas S Sudied faarel @ Tefid & -

(1) JUHidT TR HTEEH

(2) IEfHeg o3 Uideds tae

(3) TR A Tae

() 9T 3% B TsweimH T

1[Option ID=24133]
2[Option ID=24134]
3[Option ID=24135]
4[Option ID=24136]




Sl. No.68
QBID:329345

A mark that ensures that product is environment friendly

(1) Hall mark
(2) Ag mark
(3) Eco mark

(4) BIS mark

AId 9 T8 GfEd &ar 3 & Iare vatavur fgadi 2

(1) EEHIS
(2) THS
(3) 3HHD
(4) 1. 315, Y, J1db

1[Option ID=24141]
2[Option ID=24142]
3[Option ID=24143]
4[Option ID=24144]

Sl. No.69
QBID:329350

Following is NOT a controlling function of management

(1) Measuring current performance and comparing it
(2) Taking action to correct performance
(3) Establishing standards of performance

(4) Taking reviews from previous steps

effEd ey eI g ed T8 & :

(1) J4HE B e & A0 3R 39S1 o S
(2) D1 e &1 i B & 1Y B BT

(3) B FMWIEA & AHS ™Mhe Bl

(4) Jgadi Hed! B FHIET BT

1[Option ID=24149]
2[Option ID=24150]
3[Option ID=24151]
4[Option ID=24152]

Sl. No.70
QBID:329355

The environment that includes societal and structural system is

(1) Large environment
(2) Micro environment
(3) Macro environment

(4) Household environment

gieasr fored Ta1e 3R WRa- gaf da iaa g -
(1) Y URET

(2) g ufeas

(3) 98¢ URaW

(4) I3 Uieas

1[Option ID=24157]




2[Option ID=24158]
3[Option ID=24159]
4[Option ID=24160]

Sl. No.71
QBID:329362

Which of the following aims to improve thermal comfort and reduce energy use in

residential buildings?

(1) ECBC - Residential 2017

(2) BEE

(3) Building byelaws

(4) GRIHA

Tgfeied 5 9 feg@ 353 HER Ya= | aig SRE H §ig & IR $Hal &
TR &1 HH BT § ?

(1) S smarig 2017
(2) 9133

(3) Had IuTH

(@) T

1[Option ID=24165]
2[Option ID=24166]
3[Option ID=24167]
4[Option ID=24168]

Sl. No.72
QBID:329499

Pervasive developmental disorders ranging from severe disorder to milder disorder is

called:

(1) Autistic disorder
(2) Autistic spectrum disorder
(3) Asperger syndrome

(4) Fluency disorder
A GBS [GaRf &1 39 die0 [TeR d oo 1t f[deR a® il &, o S 9rdn
B

(1) Sliefe® fapRr
(2) HfeRe® Waed [aPR
(3) THUSR fESE
(4) TERA [T@R

1[Option ID=24173]
2[Option ID=24174]
3[Option ID=24175]
4[Option ID=24176]

Sl. No.73
QBID:329507

Biological changes in elderly do NOT result in

(1) Functional loss or decline
(2) Increased risk of disease
(3) Human mortality

(4) Change in the IQ




g oA | FHefafad | 9 &1 @ wide uRad- I8 gl 2

(1) UBETES & a3
(2) 18R &1 91 gonl witeH
(3) 9 g
() IQdFEaE

1[Option ID=24181]
2[Option ID=24182]
3[Option ID=24183]
4[Option ID=24184]

Sl. No.74
QBID:329541

Bruner (1966) outlines modes of representation of reality used by humans as they develop
their conceptual understanding of the world. These are:

(1) Enactive, iconic and symbolic
(2) Active, passive and journaling
(3) Passive, sketches, pictures

(4) lllustrations, drawings, images

TR 3 37 I fagHt g1 ST E @1 T2 gundal & ufafaiia & od@! @ 3 @
TR @1, e 0y & N ¥ S0 SeURUTES 99 faeihd &1 of

(1) A (TAfRE), sFudiaTed AR Hldled
(2) Y1, [ty 3R S e

(3) Ffsry, i, 9

(4) FHegH EgeH), WEiE, 3]

1[Option ID=24189]
2[Option ID=24190]
3[Option ID=24191]
4[Option ID=24192]

Sl. No.75
QBID:329545

Developmental psychologists are increasingly focusing on connections across major
domains of development, such as cognitive and socioemotional development. This is

(1) DBT Theoretical orientation
(2) Ethological Theoretical orientation
(3) Eclectic Theoretical orientation

(4) Cogpnitive Theoretical orientation

A TS TGRS (9B & T &31 oY -UIHHS Ud YHINS Ydgidd [qery
& SR F et W @IS @ Hisd R I T8 8 :

() SIEE dgifae sgaEa
(2) HERIE Sgifds 3@
(3) Tadiiae® Sgiia® I=@Edl

(4) TFHES Hgifdd I@dl

1[Option ID=24197]
2[Option ID=24198]
3[Option ID=24199]
4[Option ID=24200]

Sl. No.76
QBID:329553




A time of sexual reawakening; when source of sexual pleasure becomes someone outside

the family. This stage is

(1) Oral stage
(2) Phallic stage
(3) Genital stage

(4) Anal stage

IH i &1 9HY; 9id diH@ SHHE &1 Hid URaR & §1e: ®1 @13 Aldd oidl o] 48
HIT T :

(1) HifE® =
(2) fefm-eer s@m
(3) TS =T
(4) TEI-Hadt @R
1[Option ID=24205]
2[Option ID=24206]

3[Option ID=24207]
4[Option ID=24208]

Sl. No.77
QBID:329563

Fighting is more of a characteristic of a traditional masculine role and crying is more
characteristic of a traditional feminine role. This is the perfect example of

(1) Gender Roles
(2) Gender Typing
(3) Gender Identity

(4) Gender Equality

ASTE SIS B &k U UG geuifad YHe &1 fagivdr g iR 341 ge0a:
0% URAIRS Ragifa HHe &1 fG2vd 81 98 [69@! U 45 SeeRUE -

(1) oS (&) B YT
(2) o= 2R

(3) S (i) UgdH
(4) S=I TG

1[Option ID=24213]
2[Option ID=24214]
3[Option ID=24215]
4[Option ID=24216]

Sl. No.78
QBID:329573

Theory suggests that like a machine, the organism simply deteriorates over time. This

process is influenced by environmental stress such as poverty and poor nutritions

(1) Wear and tear theory
(2) Immunological theory
(3) Activity theory

(4) Disengagement theory




oy frsia & gza foar o & & fodt mefie &t wifa Jufeq iR-T==n ol & gag
Hic & 1Y 319 eI &1 Tg ufspar FdHar 3R $HIR aiver SE uafareig gardl 3
W—Hﬁﬂfﬂ?ﬂ%:

(1) ge-Be fagia fam s femr i)

(2) URREUTES [Hgid FRAmeea ER)
(3) DG [Hgid (UEeiad @R

(4) fam fagia (feawiee )

1[Option ID=24221]
2[Option ID=24222]
3[Option ID=24223]
4[Option ID=24224]

Sl. No.79
QBID:329578

'PM Poshan’ has replaced earlier program of -

(1) Poshan Abhiyan
(2) ICDS
(3) MDM
(4) SNP

A argur wifgd i g (g 1 ugd & 6l sied 9 ufawid
fParTag 2

(1) TI9oT SHiRH
(2) A2,
(3) THILTA.
(4) TEEAAL

1[Option ID=24229]
2[Option ID=24230]
3[Option ID=24231]
4[Option ID=24232]

Sl. No.80
QBID:329584

The model which is considered suitable for ‘Public Speaking’ but is one way model of

communication and was proposed by

(1) LASSWELL
(2) LEAGAN
(3) BERLO

(4) ARISTOTLE

gg ufae @isa), o wraei-e dicare (Ufsis i) & e Swged am i,
Tifes=1 THIHU BT T d< b UG ©, 9F [ §IR1 WRaTidd fdhal 1 T 2

(1) diadd

(2) Tl

(3) @l

(4) 3T
1[Option ID=24237]
2[Option ID=24238]

3[Option ID=24239]
4[Option ID=24240]

Sl. No.81
QBID:329591




‘Gatekeepers' are important for the following communication situations:

(1) Intrapersonal communication
(2) Small group communication
(3) Large group communication

(4) Mass communication

e oug Ffafed & 9 iy e o § geaygf 82

(1) HR-Fafdas
(2) oY THE TEET
(3) Trd THE §HIT0
(4) ST HIR

1[Option ID=24245]
2[Option ID=24246]
3[Option ID=24247]
4[Option ID=24248]

Sl. No.82
QBID:329598

A scientific method which employs reflective thinking pattern is-

(1) Exhibition
(2) Discussion
(3) Field trip

(4) Audio clips
g8 Bl afe ffd 8, fod ufofdes faw et srmammr sman & -

(1) de=H [EFRiEaE)

(2) =41

(3) fthes 120 (&3 @1 regH al)
(4) ATl fFaw

1[Option ID=24253]
2[Option ID=24254]
3[Option ID=24255]
4[Option ID=24256]

Sl. No.83
QBID:329605

If a programme coordinator wishes to assess the availability of different food items to a

community, she can use which of the following PLA methods?

(1) Venn diagrams
(2) Seasonal diagrams
(3) Transact walk

(4) Ranking and scoring

g Biz PRHH A0 [BUl TEH B [aUF We aeg3ll B Suaedl &1 Jedid
®HI dlgdl ¢ dl dg FEicigd H 8 S9! ULLa.u. [l &1 SuarT & Gl gl

(1) 9 3"

(2) drgE HRE

(3) giviae i@

(@) YT iR Wit




1[Option ID=24261]
2[Option ID=24262]
3[Option ID=24263]
4[Option ID=24264]

Sl. No.84
QBID:329615

Unnat Bharat Abhiyan aims to support -

(1) Literacy and educational improvement
(2) Development of smart cities in urban areas
(3) Skill building and economic empowerment for rural development

(4) Improve standards of higher education

39d R4 AEH feae! 99 e adl & :

(1) FI&RAT IR TiE@ guR

(2) TR &t & e ol @1 g

(3) T G & U @R R afie gxidaas
(4) 3= &1 & AFST H JUR

1[Option ID=24269]
2[Option ID=24270]
3[Option ID=24271]
4[Option ID=24272]

Sl. No.85
QBID:329623

Sundarlal Bahuguna led the following movement in our country

(1) Bhudan andolan
(2) Chipko movement
(3) Anti-corruption movement

(4) Demacratic participation of local bodies

Heeld 950N - gHR ¢ H Fafaied H 1 fod siiaicH &1 g foar :

(1) Y EeH

(2) U@ A

(3) YR R sgem

(4) =T Har! | diddiEs HrieR

1[Option ID=24277]
2[Option ID=24278]
3[Option ID=24279]
4[Option ID=24280]

Sl. No.86
QBID:329630

To account for differences in pretest means or for statistically equating groups on other
factors or covariates that the investigator suspects may influence the dependent variable, we

use
(1) Ranked Sign Test
(2) MANOVA

(3) ANCOVA

(4) Pearson'sr

U4 ufeo aregt | RrEdrei & e Sal 39 dRe! IR gites ™ 39 1 §Hied @3- ald g 2al Tgadl (@ diRe) &l
DRE S 5 ol [dh AT Bl Yo Bl § d 39 HISd =R bl UHIad $ Yebd 6, T8 o o [ sH R H Ald & -

(1) it s afvenr (s ars ufiam)




(2) THEEdT
(3) TUAHLATIT.
4 fgd=&1r

1[Option ID=24285]
2[Option ID=24286]
3[Option ID=24287]
4[Option ID=24288]

Sl. No.87
QBID:329634

A study is designed to assess the effects of an educational program
on students’ achievernent. In this study, the variables that is

educational program and achievements are

(1) Independent and dependent respectively
(2) Dependent and independent respectively
(3) Both dependent

(4) Both independent

ud 3reng o o faenfifaf ot uafsd w et e srdey & uyel of st &
0 ifiefcad g1 39 g o, OX-T0e81 & &ed 3R Suafel & -

(1) B Waa AR AT
(2) B H1EF R w|aa
(3) Ml 3EE

(4) GHI @d

1[Option ID=24293]
2[Option ID=24294]

3[Option ID=24295]
4[Option ID=24296]

Sl. No.88
QBID:329638

QUAN/qual notation indicates that
(1) qualitative research dominates the quantitative aspects in a given study
(2) quantitative and qualitative aspects of the study are equally distributed
(3) qualitative methods are embedded within a quantitative design

(4) mixed methods approach is invalid for the given study

FYULA. /BT e Ugha Fiey sl g fd -

(1) fEU T 3rermE o uEdl W QY UREEs Teas 1R Uad sidl o
(2) A & URATED 3R UEHIRS Ugg SHH $U I [GUIfeid gid 2|
(3) TUEAIRS Al [ uRmmers fSue- & 9y aEfRd sid ol

(4) T3 fafy Jurs feu Ty a0 §q sy gial ¢

1[Option ID=24301]
2[Option ID=24302]
3[Option ID=24303]
4[Option ID=24304]

Sl. No.89
QBID:329645

on both sides of this point, itis a

(1) Normal distribution

(2) Positively skewed distribution

When the histogram reaches its peak at the sample median and then decreases uniformly




(3) Negatively skewed distribution

Distribution in which the mean, mode and median do not

coincide

W HGdA UideRl A1 W 3 Ydi fdg W ol § SR i 39 fdg & el ffR
RIAEI Y Uedi e, Te aldl & :

(1) = §eA

(2) A D HR Fob (3P 3) de

(3) BUTHD Bl R b (FS) de

(4) Ud g Fored A1e, Sgae, Al Jurd 7l 8ld &

1[Option ID=24309]
2[Option ID=24310]
3[Option ID=24311]
4[Option ID=24312]

Sl. No.90
QBID:329729

Following data shows sample weights of newborns in two adjacent cities

City A City B
n =50 n=50
X = 6.8 ¥ =72
52=52 52=4.9

Which will be a suitable test of hypothesis to assess if the mean weights of newborns vary

significantly or not?

(1) Paired t-test
(2) Pearson'sr
(3) Signed rank test

(4) Wilcoxon test

fFafafad sies a Feead! wer! # 90 5 o=l & uidesl 4R @i uefid g -

ReL A [RIgLB
n =50 |n=50
r=68y=72

$2=5.2 |s=4.9
g qU o d=df & A1 YR Y0l ot © o syar 8l 56 Hwiad & & fag
i@ e &1 3 IR& SH-T1 R 2

(1) g t-uReor
(2) TRESIr

(3) fa=d 4uit afzam
(4) Tl uieam

1[Option ID=24317]
2[Option ID=24318]
3[Option ID=24319]
4[Option ID=24320]

Sl. No.91
QBID:329743




According to the classification of carbohydrates-
A. Ribose is a monosaccharide

B. Sucrose is a disaccharide

C. Inulin is an oligosaccharide

D. Maltotriose is an oligosaccharide

E. Ribulose is a polysaccharide

Choose the correct answer from the options fiven below

(1) C,DandE Only
(2) A BandD Only
(3) B,Cand D Only
(4) A CandD Only

Flalegacy &b dE & AR :

A TZE U AH9HES &

B. gebIol UP SSUPes o

C. 3¢ U Sl EsES &
D. TTee! - TS Ud e asmigs &
F. RS U@ UididEs &

Hid feu T fashenl # 9 w8l SR gH -

(1) HEEC, D, E
(2) HATAA, B, D
(3) HaAB, C, D
(4) BAAA, C, D

1[Option ID=24325]
2[Option ID=24326]
3[Option ID=24327]
4[Option ID=24328]

Sl. No.92
QBID:329751
Equipment commonly used in nutritional anthropometry include-
A. Salter scale
B. Body composition analyser
C. Spectrophotometer
D. Bomb calorimeter

E. Precision calliper

Choose the correct answer from the options given below:

(1) B, Cand D only
(2) B, Cand E only
(3) A, DandEonly
(4) A, B and E only




AHarHfd ¥ 9Eraa: SUa it o ard Suan § 9iid & -

A, Flee hd

B. dls] HUITSRH TIRgoR

C. WaIBIeHeR

D. dlFs BTN
AFEEEEIRUN

4 feu e fowent 9 98 I g -

(1) Had B, C, D
(2) HaE B, C, E
(3) HATAA, D, E
(4) HATA, B, E

1[Option ID=24333]
2[Option ID=24334]
3[Option ID=24335]
4[Option ID=24336]

Sl. No.93
QBID:329758
Hyperglycaemia may be caused by-
A. too little glucagon
B. too little insulin
C. insulin resistance
D. increased food intake

E. decreased food intake

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B, Cand D only
(3) C,DandEonly
(4) A, DandEonly

BRI Hd & RO :

A. SgA®HH BRI

B. dgd HH g~gfo

C. 3gIeH - HieRly

D. HER &1 961 gl ¥a

E. 3R &1 92l g3 UaA

4 feu e fowent 9 98 I g -
(1) HITA, B, C

(2) HaTE, C, D

(3) BFAC, D, E
(4) BIAA, D, E




1[Option ID=24341]
2[Option ID=24342]
3[Option ID=24343]
4[Option ID=24344]

Sl. No.94
QBID:329763

Air is the medium of cooking in these cooking methods
A. Stewing

B. Sautéing

C. Grilling

D. Roasting

E. Baking

Choose the correct answer from the options given below:

(1) A Band Conly
(2) A CandEonly
(3) B, D and E only

(4) C, D andE only
G U B 34 6l § g @F UsH @ S ©

A

E. difdT
e fen T fasenl o ¥ Wel S A -

(1) HATA, B, C
(2) HATA, C E
(3) Had B, D, E
(4) HIAC,D, E

1[Option ID=24349]
2[Option ID=24350]
3[Option ID=24351]
4[Option ID=24352]

Sl. No.95
QBID:329768
Which of the following are not parts of the bed of the sewing machine?
A. Feed dog
B. Face plate
C. Pressure foot

D. Oscillating hook

Choose the correct answer from the options given below:

(1) Aand B only




(2) A and C only

(3) Band Conly

(4) Cand D only

frafeiad 4 9 &1 -8 RS 734 & MR & YT el & ?
A. BIS ST

B. BY &le

C. URR Be

D. AR g

i feu 71¢ fashedl 7 9 el SR 9 -

(1) @ad A AR B
(2) @ad A AR C
(3) ad B AR C
(4) @ad C AR D

1[Option ID=24357]
2[Option ID=24358]
3[Option ID=24359]
4[Option ID=24360]

Sl. No.96
QBID:329770

Which of the following add width to the body?
A. Contrasting collars and cuffs

B. Single colums of colour

C. Stove pipe pants

D. Turtle neck

E. Chokers

Choose the correct answer from the options given below:

(1) A, Band Conly

(2) 8, Dand E only

(3) B, Cand D only

(4) A, DandE only

FafaRad o & IR B AT d6- ®I THY Tgd Bd 6 ?
A To TR & BIeR AR 7%

B. T & Uahdl dlcH

c. €lq urgy Yz

D. Ted B

E. I

el feg Ty fadedl & @ 9t IO A -
(1) HaTA B, C

(2) $a9B, D, E




(3) &ade,C D
(4) BIAA, D, E

1[Option ID=24365]
2[Option ID=24366]
3[Option ID=24367]
4[Option ID=24368]

Sl. No.97
QBID:329774

Important features of transfer printing are-

ALt has flexibility of designs.

B. It uses and pollutes more water than other printing methods.

C. The process is highly efficient.

D. The prints are of good clarity of design.

E. It cannot be used on Knit fabrics as the fabric is distorted during the process.

Choose the correct answer from the options given below:

(1) A, Band Conly

(2) B, CandD only

(3) C,Dand E only

(4) A, Cand D only

i HifeT @7 Agwaqy faRIvaT € -

A. 39H T5uig &1 @& qa e Hfed glal 8

8. &= fiifesT fafta &t omtar g Sifd Sicl &1 SUaNT Ud Uguur &t &
C. 9| Ulshdl IEaIg HRIedl dIell &

D. FEuimg @1 3=t Tpa1 & 9 qEU B &

E. 391 9 gU (knit) PUS U SUTFT Ta| [d] off Tavll i1 34 Wishal & GRH

e fen T fasenl o ¥ Wel S A -

(1) HaTA, B, C
(2) HIAB, C, D
(3) HIAC,D, E
(4) HIAA, C, D

1[Option ID=24373]
2[Option ID=24374]
3[Option ID=24375]
4[Option ID=24376]

Sl. No.98
QBID:329777




Permanent hardness in water is due to the presence of following salts:
A. Calcium bicarbonate

B. Magnesium bicarbonate

C. Magnesium chloride

D. Calcium nitrate

E. Calcium sulphate

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B, Cand D only
(3) C,DandEonly
(4) A DandE only
FrafiRad foot auT @t SulRyfa & SR wa # R SRl Ul Sl 82

A. HcHgd 915 PEHC

B. HURGH 915 Plai-e

. BURTH aRES

D. SfeRgH Argce

E. BIeRITH Hebe

4 feu e fowent 9 98 I g -

(1) HATA, B, C
(2) HaAB, C, D
(3) HEEC, D, E
(4) HEAA, D, E

1[Option ID=24381]
2[Option ID=24382]
3[Option ID=24383]
4[Option ID=24384]

Sl. No.99
QBID:329779
According to Rogers innovators are-
A. well educated
B. deliberate
C. risk loving
D. more tradition bound

E. well connected with outside world

Choose the correct answer from the options given below:

(1) A, Cand E only
(2) B, D and E only
(3) A, BandConly

(4) B, C and E only




Ao & TR TaAR FA AT B & -
A. grarfard

B. gfqaied

C. SIIREH UHgE B ard

D. WO ¥ Hfid 69 gU

E. 61 AdIERYT ¥ 3] ¥E I U
4 feu e fowent 9 98 I g -
(1) HATA, C E

(2) HaTE, D, E

(3) BIAA, B, C
(4) BITB, C, E

1[Option ID=24389]
2[Option ID=24390]
3[Option ID=24391]
4[Option ID=24392]

Sl. No.100
QBID:329784

The following are the aspects of principle of harmony in
A. Line and shape

B. Size

C. Texture

D. Idea

E. Proportion

F. Colour

Choose the correct answer from the options given below:

(1) B,C D, EandF only
(2) A, B, C DandEonly
(3) A B, C DandFonly
(4) A, C D, EandFonly

fgfafad & 4 o1 - T gieg & Risid & Usd s -
A 3T 3R AMBR

B. AT

C. WxgHl

D. faaR

E. gHEUTE

R

i<l feu e faseul & 9 9el IR 9 -
(1) H9T B, C,D,EF

)




Hdd A, B, C, D, E
(3) BGAA, B.C, D, F
(4) TFAA C D, EF

1[Option ID=24397]
2[Option ID=24398]
3[Option ID=24399]
4[Option ID=24400]

Sl. No.101
QBID:329790
Following are the features of a strategy
A. It relates to one area of operation
B. It requires commitment of organization
C. It is based mostly on future scenario
D. It will not affect future growth of organization

E. Itis based on expected behaviour of forces in the external environment

Choose the correct answer from the options given below:

(1) B, Cand E only
(2) C, DandEonly
(3) B, Cand D only
(4) A BandEonly

FRiHITa & FgfaRad fogman 3 -
A TE DR & 0P & 9 Yafia @

B. 3H® [0 W3- B Ulddgdl G &

C. T8 HIUDITE: Hidw B TRY W AT BIaT &

D. Ug H7& & Hid| faesTy i wHifad el eeal

E. U aTe] URAY & BR&I & UfEd saeR W 11fid giar &
= fau T fAwent & € ugl SR H -

(1) Haa B, ¢ E
(2) HaEC, D, E
(3) Had B, C, D
(4) HATA, B, E

1[Option ID=24405]
2[Option ID=24406]
3[Option ID=24407]
4[Option ID=24408]

Sl. No.102
QBID:329795




What are the consumer problems in India?
A Lack of information

B. Poor transportation facilities

C. Prosperity

D. llliteracy

E. Attractive packing

Choose the correct answer from the options given below:

(1) B, Cand D only
(2) B, D and E only
(3) A DandE only
(4) C, DandEonly
HIRT H YT A - FJ1E -
A, STHSRI BT BHI

B. W19 T giaend

C. &

D. &R

E. 3TPYD Ul

1< fEu 7Y faeeul & § el I I -

(1) Had B, C, D
(2) HaaB, D, E
(3) HAAA, D, E
(4) HEEC, D, E

1[Option ID=24413]
2[Option ID=24414]
3[Option ID=24415]
4[Option ID=24416]

Sl. No.103
QBID:329809
Children who behave morally tend to have parents who:

A. foster an external rather than an internal sense of morality

B. involve children in family decision making and in the process of thinking about moral
decisions

C. provide opportunities for the children to learn about others® perspectives and feelings
D. are warm and supportive rather than punitive and use inductive discipline

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B, Cand D only
(3) A Cand D only
(4) A BandD only




Afd® ¥4 U deR ®- gl §=i & Al - [Ta $Y el 8 ?

A, el &1 HidR® YT & S9C ST YT B Hied & o

B. g @I Ui i &3 3R Afae Fofdl & ar & e v & ofifad e
o

C. S @I 30 AfGadl & PSRN 3R YEsf & aX J 94 & AU 3@ UgH
TG

D. TUSTH® U4 U HJRITGA & Sl WRH iR TadERI 8l &
e fen T fasenl o ¥ Wel S A -

(1) HATA, B, C
(2) Had B, C D
(3) AT A, C, D
(4) BATA, B, D

1[Option ID=24421]
2[Option ID=24422]
3[Option ID=24423]
4[Option ID=24424]

Sl. No.104
QBID:329817
Identity is a self-portrait composed of many pieces including
A. Career identity
B. Political identity
C. Interests
D. Personality

E. Idealistic behaviour

Choose the correct answer from the options given below:

(1) A/ CDandE

(2) A B, Cand D only
(3) A B, CandEonly
(4) A B DandEonly

TggH 3@ =i ° fd ue w -E g, foud gefada &
A BNIR TggH

B. TrSiITdd UgdH

C. efudr

D. Afdda

E. STCiarg] SagR

el feg Ty fadedl & @ 9t IO A -
(1) HaTA, C D, E

(2) $9UA, B, C D

(3) BIAA, B, C, E
(4) BTAA, B, D, E




1[Option ID=24429]
2[Option ID=24430]
3[Option ID=24431]
4[Option ID=24432]

Sl. No.105
QBID:329830

Unsocial behaviour patterns are
A. Egocentric

B. Prejudiced

C. Ascendant behaviour

D. Rivalry

E. Cooperation

Choose the correct answer from the options given below:

(1) A B, Cand Eonly

(2) A B, Cand D only

(3) A, BandConly

(4) B, Cand D only
G HdeR Ue § -

A, MTHSBET @1 - Tfe®)

B. qaide!

C. UYcadrg]

D. Ufcrgig

E. W&l

el e 1Y fasedl # 4 951 9Tk 9 -
(1) HATA, B, C E

(2) ®ITA B, C D

(3) BIAA, B, C
(4) TTAB,C, D

1[Option ID=24437]
2[Option ID=24438]
3[Option ID=24439]
4[Option ID=24440]

Sl. No.106
QBID:329839
Children with an intellectual disability may -
A sit-up, crawl or walk later than other children
B. find it hard to remember things, not understanding how to pay for things
C. understand social rules easily, speak fluently
D. have trouble seeing the consequences of their actions

E. solve problems easily, think logically

Choose the correct answer from the options given below:




1 A, B and D only
(2) A, BandEonly
(3) A, BandConly

(4) ¢, Dand E only

A. 3 Sl BT g H &8 H S35, T 1 I0H1 I Bl

B. HIsil @I 9Ta 3@ H BI&IR aldl 6, T8 Tl GHZH fd dieil 1 Y dd fbdl §ig
C. GrHIfe® oA S 8 999d 5, YRI UG8 9idd o

D. 30 BT P TR T W &R Sild &

. FHEISHT 1 A § GHIUH B @, dlihd &Y  Hidd ©

e fen T fasenl o ¥ Wel S A -

(1) B9TA, B, D
(2) BaTA, B, E
(3) HATA, B, C
(4) HIAC, D, E

1[Option ID=24445]
2[Option ID=24446]
3[Option ID=24447]
4[Option ID=24448]

Sl. No.107
QBID:329846

The following ways can be used to identify potential leaders for community development

initiatives

A. Discussion

B. Dramatization

C. Prablem solving

D. Scio-metric Technigue
E. Participative observation

Choose the correct answer from the options given below:

(1) A B, Cand D only
(2) B, C, Dand Eonly
(3) A C DandEonly

(4) A B, DandE only




Frafafed & 3 o9 -8 7% Ireie G 6 ugdl & fau Gyaria Jarst o
UggH & UG & O1¢ 5 ad & ;

A T

B. ATCHIHUI

C. GHE] - HHIHH

D. YA ddb-id (Wi - Hie® aob-is)
E. YRTIERT - 3e1Rd sfaaia

e feu o fasenl H 9 9el ST 9 -

(1) HAAA, B, C, D
(2) HAAB, C, D, E
(3) HATAA, C,D, E
(4) HITA, B, D, E

1[Option ID=24453]
2[Option ID=24454]
3[Option ID=24455]
4[Option ID=24456]

Sl. No.108
QBID:329852

Examples of traditional educational folk media in India are
A, Jatra

B. Burra Katha

C. Bhangra

D. Garba

E. Bidesia

Choose the correct answer from the options given below:

(1) A Band Conly
(2) B, Cand D only
(3) C,DandE only
(4) A, BandEaonly
URE § URERS JEd did Hiisdl & Ie60 § -

A ST

B. R dUI

C. HITTg

D. TREl

E. fac o

el e 1Y fasedl # 4 951 9Tk 9 -
(1) HATA, B, C

(2) HIAB, C, D
(3) BFAC, D, E




(4) Had A, B E

1[Option ID=24461]
2[Option ID=24462]
3[Option ID=24463]
4[Option ID=24464]

Sl. No.109
QBID:329857
Monitoring and Evaluation of projects is for-
A. Effective management
B. Achieving objectives
C. Promotion of stakeholders
D. Establishing accountability

E. Optimal use of resources

Choose the correct answer from the options given below:

(1) A B, CandD only

(2) B, C Dand Eonly

(3) A B, CandEonly

(4) A B, DandEonly
fgiemel @1 FRHT iR geaie- feas U e e :
A Tl geE
B. Je=df @I Uifig

C. EHeced (CauR®!) &I Uiee-

D. idleGe! MUd ST
E. TEeET &1 3PaH SUgn
Hid feu T fashenl # 9 w8l SR gH -

(1) HEAA, B, C, D
(2) HadB, C D, E
(3) HATA, B, C, E
(4) HATA, B, D, E

1[Option ID=24469]
2[Option ID=24470]
3[Option ID=24471]
4[Option ID=24472]

Sl. No.110
QBID:329859
Amartya Sen expanded the concept of ‘Development’ to include
A. Building dependence of developing countries on developed countries
B. Building people’s capacities
C. Enhancing people's freedom
D. Enhancing people’s income through capital investments

E. Reducing inequalities

Choose the correct answer from the options given below:




(1) A Band Conly
(2) A Cand D only
(3) B, Cand D only

(4) B, Cand E only

3T I A oo 1 [@yRu & fawR fear u1, fogd gfefea &
A. fowfia ot i fawmaehia oxif &t Fykar & fmfo

B. TINTI @1 & 1

C. NIl 1 Iqddl &1 4aeH

D. Qo Fa=f & J1e89 9 R &1 31T &1 HaeH
E. SgHATH! H HH I

el e 1Y fasedl # 4 951 9Tk 9 -

(1) HATA, B, C

(2) HATA, C, D

(3) HAAB, C, D
(4) TaAB, C, E

1[Option ID=24477]
2[Option ID=24478]
3[Option ID=24479]
4[Option ID=24480]

Sl. No.111
QBID:329867

Power of a test is

A. ability to detect the real effect in a population based on a sample taken from the

population

B. Probability of correctly rejecting null hypothesis when it is true
C. increased when sample size increases

D. Probability of correctly rejecting null hypothesis when it is false
E. decreased when sample size increases

Choose the correct answer from the options given below:

(1) A BandEonly
(2) B, D and E only
(3) A Cand D only

(4) A BandD only




TLI&0T B & (WTR) ©

A, S9SN U o U ue ufdesl W enenfid SRdE R aRdfdd UHTd &1 Udl @

3 grgar

B. Tl &7 ¥ I U@ ea13 & 3Rai@ 8 &1 Iiiddl wiaid 08 94 8l

C. 99 Ufdaa PR 9¢dl & a9 98 9¢ Wil o

D. TE1 &1 ¥ 3\ UR&GedA18l & Gier g @ Widddl Jaid g8 39d gl

£. o UTE Yl eR Fgdl & 94 U8 U oIl &
rd e T fosenl o ¥ Wel S A -

(1) HITA, B, E
(2) HIAB, D, E
(3) HATA, C, D
(4) HATA, B, D

1[Option ID=24485]
2[Option ID=24486]
3[Option ID=24487]
4[Option ID=24488]

Sl. No.112
QBID:329872

Match List | with List 1l

List | List 1l

A, Calcium I. Girls (16-18 years) RDA (2020) 14.2 mg/d
B. Magnesiuml|ll. Girls (16-18 years) RDA (2020) 1050 mg/d
C.lIron 11l Girls (13-15 years) RDA (2020) 340 mg/d
D. Zinc IV. Girls (13-15 years) RDA (2020) 30 mg/d

Choose the correct answer from the options given below:

A) A-NLB-IV,C-1,D-1I
(2) A-IV,B-1,C-1I,D-1I
(3) A-IILB-1,C-1,D-1IV
(4) A-I,B-NII,C-IV,D-1

A. \. foanfar (16 - 18 @H) AR B T (2020) : 14.2 fEFAT/
Ffewrgy  wfafeq
B. 1. et (16 - 12 @) 3R, 1. T (2020) : 1050 @/
foftmm wfafea

1. TeEnfEt (16 - 18 @) 3R, 31T (2020) : 340 o/
c.de e

ofim V- e (16 - 18 @) 3R, 2. T (2020) : 30 fHw/

T feu 7Y fasedl H 9 98l IR g

@) A-1LB-IV,C-1,D-1
(2) A-IV,B-I,C-1l,D-1I
(3) A-IILEB-1,C-1,D-1V
(4) A-ILB-IILC-IV,D-I




1[Option ID=24493]
2[Option ID=24494]
3[Option ID=24495]
4[Option ID=24496]

Sl. No.113
QBID:329880

Match List | with List 1l

List | List Il

A. Trypsin inhibitor I. Flavour enhancer

B. Mono sodium glutamate|ll. Probiotic

C. Tocopherol I1l. Anti-nutritional factor|
D. Yoghurt IV. Antioxidant

Choose the correct answer from the options given below:

A) A-IL,B-NI,C-IV,D-1
(2) A-NLB-IV,C-1,D-1I
(3) A-IILB-1,C-IV,D-1I
(4) A-1,B-IV,C-1,D-1Il

Tl -1 B g -1l I gHRd Sifee :

T - Tl -

A foftgm FfgfaeR |. AT 9aH® (R 37899
B. HIFI - WIfETH e I WEEie®

C. BB Il O - faRIe SRS

D. T Iv. O SiRitEe

i feu 1Y fadedl H 4 98l 3wk g :

1) A-ILB-ILC-IV, D~
(2) A-1ILB-IV,C-1,D-1
G) A-IILBE-LC-IV,D-
(4) A-ILE-IV,C-1,D-1lI

1[Option ID=24501]
2[Option ID=24502]
3[Option ID=24503]
4[Option ID=24504]

Sl. No.114
QBID:329886

Match List | with List 1l

List | (Stitch Classes)|List 1l (Use)

A.300 I. Hand Stitch

B. 400 II. Lock stitch

C. 500 IIl. Multi thread chain stitch
D. 200 IV. Over edge stitch

Choose the correct answer from the options given below:

1) A-IL,B-IV,C-1,D-1I
(2) A-IL,B-NI,C-IV,D-1
(3) A-IILB-I,C-1,D-1IV
(4) A-IL,B-1,C-1,D-1IV




Tl -1 B g -1l I gHRd Sifee :

Tl -l Tt -Il

(s =) (STER)

A. 300 . §% Toems

B. 400 1. i e

C. 500 11, SEYTTT 3geT fiems
D. 200 v, 3R Ug g
I e T fasedl # 9 98l SR g

) A-ILE-IV,C-1,D-1lI
(2) A-ILBE-ILC-IV, D~
G) A-NLB-ILC-1,D-1IV
(4) A-ILB-LC-1L,D-1IV

1[Option ID=24509]
2[Option ID=24510]
3[Option ID=24511]
4[Option ID=24512]

Sl. No.115
QBID:329895

Match List | with List 1l

List | (fashion terms)|List Il (Description)

A. Bodies . ltalian ready to wear

B. Toiles Il. Widely accepted version of a basic design
C. Ateliers Il Less expensive version of an original design
D. Moda-Pronta IV. French word for designer workshop

Choose the correct answer from the options given below:

) A-ILB-IV,C-1,D-1I
(2) A-1LB-1I,C-IV,D -1
(3) A-1,B-1,C-1,D-1V
(4) A-ILB-IV,C-1Il,D -1

T -1 B gl - 3 gafd S

Tl -l T -1l

(Rsq) (=aTE)
INGIEIE |, 32l BT, Ug-H &I ddR
B. g5 II. U S [Soe &1 9od TR IR Widhd Uh0

C.URfawY |11 U Id f&ug &1 HH T TEhul

D. TST - Uier |Iv. [EeR-R SRR od WikRd e

i feu 7Te faseul # 9 el IR g

1) A-ILB-IV.C-1,D-1I
(2) A-ILB-IILC-1V,D-1I
GBG) A-LB-IILC-I,D-1V

(4) A-ILB-IV.C-1Il,D-I

1[Option ID=24517]
2[Option ID=24518]
3[Option ID=24519]
4[Option ID=24520]

Sl. No.116
QBID:329954




Match List | with List 1l

List | List 11

Parts of staircase Description

A. Tread . Vertical portion of steps

B. Riser IIl. The outer projecting edge of a tread

C. Flight 1. Series of steps without platform

D. Nosing IV. Under surface of stairs

E. Soffit V. Horizontal part of the step where foot is placed

Choose the correct answer from the options given below:

A) A-IV,B-V,C-I,D-1Il,E-1
(2) A-V,B-1,C-1I,D-1,E-IV
(3) A-IV,B-V,C-I,D-1L,E-IN
(4) A-1,B-1,C-1,D-V,E-IV

gt -1 &1 gl - o gHfd S -
-l T -1l

GHEAGYINGERY)

A. TS |. A9 &1 awEad U

B. ZwX II. €8 I dIgl Fdhal gl fbARI
C. FISe Il SIEWIH & faHT ST & 4@

D. AT v, @t (@mR) @1 vidsl Tag

£ gifthe V. T BT Afde e for W R 31 ol &
2 feu 7Tu faeetl & @ wel SR g

(1) A-IV,B-V,C-II,LD-1IILE-I
(2) A-V,B-I,C-lILD-1,E-1IV
(3) A-IVB-V,C-I,D-1,E-1lI
(4) A-I,B-NILC-1ILD-V, E-IV
1[Option ID=24525]
2[Option ID=24526]

3[Option ID=24527]
4[Option ID=24528]

Sl. No.117
QBID:330175

Match List | with List 1l

List | List Il

A. Awning window|l. A vertical window provided on sloping roof

Il. Window or series of windows along the top as structural wall usually
at or near roof line

B. Dormer window

C. Clerestory
Il Wind ided lopi f
window indow provided on sloping roo
D. Sky light IV. Window unit where sash is hinged at the top of the window frame

Choose the correct answer from the options given below:

1) A-IV,B-1,C-1I,D-1I
(2) A-1,B-ILC-1I,D-1V
(3) A-IV,B-1,C-1I,D-1I
(4) A-I,B-NII,C-IV,D-1I




Tl -1 B g -1l I gHRd Sifee :

Tl -l T -1l

Aﬁ'&ﬁﬁ; |. ST §d W 21718 oraad fasa!

B. SR 1. Bd B WS IR A1 9P TG GHEFd GlaR & Y
[EEEL] & a1y fas®! a1 &% Rasieal

C IR . gl g w A s

D. %h1s aige  |Iv. st gfae fored fdsi e o Siid R Y glar g

I e T fasedl # 9 98l 3R g

1) A-IV,B-LC-1,D-1I

(2) A-LEB-ILC-N,D-IV

G) A-IVB-ILC-U,D-1I

(4) A-1l,B-

Hn, C-n,D -1

1[Option ID=24533]
2[Option ID=24534]
3[Option ID=24535]
4[Option ID=24536]

Sl. No.118
QBID:330201

Match List | with List 1l

List |

List Il

Peer Status

Description

A. Popular children

. are infrequently nominated as a best friend but are not disliked by
their peers

B. Neglected children

Il. are rarely nominated as someone’s best friend and are actively
disliked by their peers

C. Rejected children

lIl. are frequently nominated as a best friend and are rarely disliked
by their peers

children

D. Controversial

V. are frequently nominated both as someone’s best friend or being
disliked

Choose the correct answer from the options given below:

A) A-1L,LB-1,C-1v,D-1I

(2) A-ILB-1,C-1I,D-1IV

(3) A-IV,B-lILC-1,D-1I

(4) A-IILB-1,C-1,D-1IV

Tl -1 B G -1l T GHRTd Bife -

i -| T -1

;%@%W (@)

A TG |1 3 U garad B & w0 F A1t feu o ©,
B.90RRM 1. fiRaI €1 fo e & 9w g & w0 & T e o &
CE] AR 30 Il gR1 Ufergar U A19ds f6ar S @

C. dW@Ha |l IRl 4 Us YaraH i & w0 1 A1id 6 9 ©
EE] 3R 3% gifiE! gRT f3Ra € TEe P o 8

D. faareryg |Iv. SRR 4 64 & 9aiaq B & 9 8 g ar
EE] AT9YE GHT 6T o §

i feu e fameat & € 9 S gfHu:




) A-LBE-ILC-IV,D-1lI
(2) A-ILE-LC-1I,D-IV
3) A-IV,B-IILC-I,D-1I
(4) A-lILB-1,C-1,D-1V

1[Option ID=24541]
2[Option ID=24542]
3[Option ID=24543]
4[Option ID=24544]

Sl. No.119
QBID:330238

Match List | with List 11

List | List Il

Reflexes |Responses

A Babinski I. Startle, arches back, throws head back, flings out arms and legs and then
rapidly closes them to centre of body

B. Moro Il. Fans out toes, twists foot in

C. Rooting |lll. Forms fists with both hands and usually turns head to the right

El;climc IV. Turns head, opens mouth, begins sucking

Choose the correct answer from the options given below:

) A-1L,B-IV,C-1,D-1I
(2) A-1,B-1,C-1v,D-1I
(3) A-I,B-ILC-1I,D-1V

(4) A-IV,B-1I,C-1I,D-1

T -1 B gl - 3 gafd S

Tl -l T -1l

(Riats) |(srgfamy)
| el B, Ui 1 R gebal g, FiR i PRI 8, yetf wd

A SfEXH] [T BT SomdT & AR TP 916 3¢ INN & Hg H o e
BRG]

B. AR . T8+ SR 3o 5, Ta AISd &

- . G g1l g1 ST § SR 9E: RR @1 as SR

= e

_?'fﬁﬁ v. RR fiedl &, 48 Wiadl &, 981 URY $3dl &

I feu e fowent § A Tt SR aHT:

1) A-1IILB-IV,C-1,D-1
(2) A-ILB-,C-1V,D-1l
G) A-LB-ILC-1I,D-1V

(4) A-IV,B-UILLC-II,D-1I

1[Option ID=24549]
2[Option ID=24550]
3[Option ID=24551]
4[Option ID=24552]

Sl. No.120
QBID:330250




Match List | with List 11

List | List 11

Sustainable Development GoalDevelopment Issue

A.SDG 1 I. Zero Hunger

B. 5DG 2 Il. Quality Education

C.SDG 3 . Good health and well being
D.5DG 4 V. No poverty

V. Networks and partnerships

Choose the correct answer from the options given below:
(1) A-V,B-I,C-1II,D-1
(2) A-IV,B-1,C-V,D-1l
() A-IV,B-I,C-1I,D-1
(4) A-V,B-I,C-1I,D- IV

gt -1 &1 gl - o gHfd S -
i -| Il
(Fad fadry aeg) (e & 79d)

A T 2L - 1 | T HEHRT
B. UH. LS. - 2 II. TOTaTR e fRraf
C. TH. ELof - 3 1II. S7=3T TR U8 AR (dd a1g)

D. TY. 3191 - 4 V. @15 el Taf
V. Jeaas R GG

TRy e A3 IR

a) A-V,BE-ILC-1LD-I
(2) A-IV,B-I,C-V,D-1l
3) A-IV,B-I,C-UIL,D-1I
(4) A-V,BE-,C-I,D-IV

1[Option ID=24557]
2[Option ID=24558]
3[Option ID=24559]
4[Option ID=24560]

Sl. No.121
QBID:330259

Match List | with List 1l

List | List Il
Body Expressions - (Non-verbal L.
. Description
communication)
A. Emblems I. Maintain the flow of non-verbal communication

Il. Communicate a massage other than the topic of
B. lllustrators .
current conversation

C. Regulators 1l. Helps relieve tension or stress

IV. Signs which complement verbal
D. Adaptors L.
communications

Choose the correct answer from the options given below:

) A-LB-IL,C-1I,D-IV
(2) A-ILB-1,C-IV,D-1
(3) A-ILB-IV,C-1,D-1lI
(4) A-1L,B-IL,C-1V,D-1Il




Tl -1 B g -1l I gHRd Sifee :

Tl -l i -l
(ERR B X "
A Tl |, HHIRG® YU &1 TaTs &4 T&-1
|I. TIH aIdieTd & (99T & §oY U% Sox 9aiftd
8. fomd @A) S
c. o Il T 1 € H (Sa16) ¥ Gfdd & Tgral &A1
D. ¥ FHT Iv. Gabd, Sl HIe® GUINT & IR 8id &
I e T fasedl # 9 98l SR g

(1) A-LB-1ILC-1,D-1V
(2) A-ILB-ULC-1V,D-1I
(3) A-ILB-IV.C-1,D-1I
(4) A-LB-ILC-IV,D-1I

1[Option ID=24565]
2[Option ID=24566]
3[Option ID=24567]
4[Option ID=24568]

Sl. No.122
QBID:330315

Match List | with List 1l

List |

List 11

A. Mixed methods notation

I. an approach to inquiry that combines qualitative and
quantitative research forms

B. Mixed methods purpose
statement

II. special question directly addressing mix of qualitative and
quantitative strands

C. Mixed methods research

11l. Shorthand labels conveying important aspects of mixed
methods research

D. Mixed method research
question

IV. overall intent covering both qualitative and quantitative
strands

Choose the correct answer from the options given below:

A) A-1,B-1V,C-1,D-1I
(2) A-1,B-IV,C-1I,D-1I
() A-IV,B-1,C-1I,D-1I
(4) A-IILB-1,C-1V,D-1I

Tl -1 B G -1l T GHRTd Bife -

i - i -1l

IMEECEEIES |. 9 & U@ SUFTH S IUaaiiRa SR

S GIEIEAT qRATAS Y USRI B T Sl 8l

5. IS fafyr 1L, UIERITRS AR IRUMHGRS adi o [y &
I53 HYA Ue TU Y [fer S ard uE v

C Ry R G Qﬁﬁqﬁaﬁ?ﬂjﬁﬂ%ﬁqﬂaﬁaﬁﬁwﬁﬁmﬁ

D. Taif3a e =ie |lv. SH1 UGS iR YRHATHS dal &
Uy HTBICd B3 ald 999 3534

TR e 9SSRI

) A-1ILB-IV,C-1,D-1
(2) A-LE-IV,C-1I,D-I
(3)




A-IVBE-ILLC-IILD-1
(4) A-IILB-1,C-I,D-1

1[Option ID=24573]
2[Option ID=24574]
3[Option ID=24575]
4[Option ID=24576]

Sl. No.123
QBID:330322

Put in correct sequence the foods with highest to lowest iron content (per 10 g)
A. Bajra

B. Soybean

C. Spinach

D. Almonds

E. Asafoetida

Choose the correct answer from the options given below:

(1) £ B ADC

(2) £ A BD,C

(3) AEBCD

(4) AB,D,CE

Jdad U FHaH 9@ & qle ad (Wid 100 ) 3T TIe aegi & Yol H 1 e
A TN

B. YA

C. Ue®

D. g

E. BT

e feu T fameal ¥ 98 S -

(1) EBADC
(2) EABDC
(3) AEBCD
(4) A/BDCE

1[Option ID=24581]
2[Option ID=24582]
3[Option ID=24583]
4[Option ID=24584]

Sl. No.124
QBID:330335




Arrange the steps of nutrition care process in correct sequence
A. Nutrition diagnosis

B. Nutrition monitoring

C. Nutrition assessment

D. Nutrition intervention

E. Nutrition screening

Choose the correct answer from the options given below:

(1) £CABD
(2) £CAD,B
(3) CAED,B
(4) CEABD
T80 SEHT W1 & TRUl & Yol o0 1 oaieyd S :
A. G HEH

B. U9 TR

C. 99 i
D. TN - 380

E. QIN0T - 99 (&H1HET)
e fen T fasenl o ¥ Wel S A -

(1) ECAEBD
(2) ECADEB
(3) CAEDE
(4) CEAEBD

1[Option ID=24589]
2[Option ID=24590]
3[Option ID=24591]
4[Option ID=24592]

Sl. No.125
QBID:330341

Give the correct sequence of wool production
A. Combing

B. Scouring

C. Carding

D. Carbonizing

E. Grading and sorting

F. Shearing

Choose the correct answer from the options given below

(1) F,EBDCA
(2) A/EBDCF
(3) EBCDAF




(4 FEBDCA
F IdGA & g HH B 913y :
A BHA

B. TS

C. g

D. BIE @

E. 0@ 3R Fers Hl

F. 3 By

Hid feu T fashenl # 9 w8l SR gH -
(1) F,EBDCA

(2) AEBD,CF

(3) EBCDAF

(4) FEBD,CA

1[Option ID=24597]
2[Option ID=24598]
3[Option ID=24599]
4[Option ID=24600]

SI. No.126
QBID:330348

Give the correct sequence of making Kalamkari
A. Washing and boiling

B. Alum treatment and washing

C. Painting

D. Natural bleaching

E. Printing

F. Myrobalan treatment

Choaose the correct answer from the options given below

(1) A/ D,EBCF
(2) BCEADF
(3) DLREACE
(4) ADEFCEB

HAIBRI FH  Tal HH Dl gdzy
A, TS DT AR JETHT

B. el IUER 3R YaTs B
c. Rt

D. Wi fdd fadeH

E. Hall

F. ARRIEEH JUDR

e feu o fasenl H 9 9el ST 9 -




(1) A DEBCF
(2) B,CEAD,F
(3) D,FEACSE
(4) AD,EFCB

1[Option ID=24605]
2[Option ID=24606]
3[Option ID=24607]
4[Option ID=24608]

Sl. No.127
QBID:330357
Arrange the steps of conducting energy audit of a building
A. Site inspection of auditor
B. Analizing the past pattern of energy use
C. Auditor-client meeting
D. Implementation of auditor's recommendation

E. Auditor's report

Choose the correct answer from the options given below

(1) CABED
(2) BACDE
(3) ADEBC
(4) C,BED A

L Yo DI Sl DU & TRUI B gaUd Hifeid :
A, HDED T R F&0

B. Bl b SUTRT o I b G Pl [GReTYUT BRAT
C. Sichef Hala®d DI 95D

D. Sich&ieh! &1 BRI &1 feparaa

E. 3ichéfep P RUIS

4 feu e fowent 9 98 I g -

(1) CABED
(2) BACDE
(3) ADEEC
(4) CBEDA

1[Option ID=24613]
2[Option ID=24614]
3[Option ID=24615]
4[Option ID=24616]

Sl. No.128
QBID:330365




Arrange the steps involved in controlling process in sequence
A. Analysis of deviations

B. Set performance standards

C. Measure performance

D. Compare actual performance with standards
E. Take corrective actions

Choose the correct answer from the options given below

(1) A/B,C,DE

(2) D,B,C A E

(3) B,C, D AE

(4) CDBAE

a0 uftear & 9l @ HHES DI :
A Tageqt &1 sama

B. FuTha & e a9

C. B 816 @I 719 BT

D. AF®! & WY aRaa® B G 1 ga-] BT
E. QURTES BRATs BT
e feu T fasmeal & O 98 S -

(1) A /B, CDE
(2) DB C A E
(3) B,C, D AE
(4) C,D B AE

1[Option ID=24621]
2[Option ID=24622]
3[Option ID=24623]
4[Option ID=24624]

Sl. No.129
QBID:330378

Arrange steps in the creative process
A. Elaboration

B. Insight

C. Preparation

D. Incubation

E. Evaluation

Choose the correct answer from the options given below

(1) A/B,CDE
(2) B,A D CE
(3) C,D,BEA
(4) ECBAD




FoiTHS Uiepdr H iuHET & ogafeyd Sifold ;
A, TaERT

B. 3idely
C. 3UHH 7 T
D. Jad

E. i
Hid feu T fashenl # 9 w8l SR gH -

(1) ABCDE
(2) BADCE
(3) CDBEA
(4) ECBAD

1[Option ID=24629]
2[Option ID=24630]
3[Option ID=24631]
4[Option ID=24632]

Sl. No.130
QBID:330384
Arrange Erikson's psychosocial stages in sequence
A. Industry versus inferiority
B. Integrity versus despair
C. Intimacy versus isolation
D. Initiative versus guilt

E. Identity versus role confusion

Choaose the correct answer from the options given below

(1) A/D,BEC
(2) DA ECB
(3) A/BCDE
(4) D,BECA

uf¥a & HAIHIRS® Gl & hHAR Hafyd Siford :

A $SE1 384 SR

B. SAIRICT aUY SHUM

C. 3 g8E rEEEEH

D. SHiifRIefeT iy filee

E. TgSfed] a8y e HTHgSH

Hid feu T fashenl # 9 w8l SR gH -

(1) ADBEC
(2) DAECE
(3) ABCDE
(4) DB ECA




1[Option ID=24637]
2[Option ID=24638]
3[Option ID=24639]
4[Option ID=24640]

Sl. No.131
QBID:330392

Arrange the following from the highest percentage to lowest percentage of memory,
retention as per Edgar Dale's Cone of Experience.

A. Design collaborative lessons
B. Simulate

C. Watch a demonstration

D. Watch videos

E. Read

Choose the correct answer from the options given below

(1) A/B,D,CE
(2) B,ACDE
(3) C,D,EBA
(4) D,B AEC

USTR S0 & "HIHAl & P (BH 3 TRIHTe) & HIHR Hid WauR &
fofaRad & 1 I=ad ufaed ¥ dex HYad Ufaed 9o &l afyd Sifvg
A FEUNTTHS Gad &1 AfHed M1

B. fieamyrg &3 (o)
C. Ue=H a&H

D. dIf&Tl &gl

E. U3

i feu 71¢ fashedl 7 9 el SR 9 -

(1) A B D CE
(2) B,ACDE
(3) C,DEBA
(4) DB AEC

1[Option ID=24645]
2[Option ID=24646]
3[Option ID=24647]
4[Option ID=24648]

Sl. No.132
QBID:330402




Arrange the steps in formulating a communication strategy
A. Planning of communication activities

B. Evaluation of effectiveness

C. Selection of communication methods and media

D. Analysis of audience

E. Designing messages

F. Formation of communication goals

Choose the correct answer from the options given below

(1) D,FCEAB
(2) EACDFB
(3) FACEDB
(4) C,ABDEF

o dt Tuw TG & i & = o soafyd S
A. g iafafiat & fAaee

B. UHIGNICTdl BT Jedic-

C. TR et 3R Hifsan &1 9a
D. 9iidll - &¥ie! (ATSUH) &1 fazaimy
. G-I Bl DU AT

F. FEIN0T Tgdl @1 g

e feu o fasenl H 9 9el ST 9 -

(1) DFCEAB
(2) EACDEB
(3) FACEDB
(4) CABDEF

1[Option ID=24653]
2[Option ID=24654]
3[Option ID=24655]
4[Option ID=24656]

Sl. No.133
QBID:330486

The sequential steps of constructing a Likert summated rating scale are
A. Trail test on small sample

B. Construction of items

C. ltem analysis

D. Evaluation of items by experts

E. Reliability estimation

Choose the correct answer from the options given below

(1) C,D,ABE
(2) B,D, A CE




(3) B,ACD,E

(4) A C,D, BE

feidhe TS I hd @) a4 (biede) & PR WU & -
A. Y Ufdeel W ugiT e

B. TGl @1 f+Ei0T

C. G (3f13eH) fazamm

D. faiw=l gR1 Hel &1 geuid
E. faye-igan smbaH
rd e T fosenl o ¥ Wel S A -

(1) C,D ABE
(2) B.D, A CE
(3) B ACDE
(4) A CDBE

1[Option ID=24661]
2[Option ID=24662]
3[Option ID=24663]
4[Option ID=24664]

Sl. No.134
QBID:330500

The sequential steps of costruction of a questionnaire are
A. Ordering and sequencing of questions

B. Constructing questions

C. Identifying the costructs

D. Deciding format of questions

E. Writing instructions for respondents

Choose the correct answer from the options given below

(1) A/D,B CE
(2 E£D,B,CA
(3) C,D,B,AE
(4) C,D,EAB

U UHTET &l & & HHHIAR RO ¢ :
A. T B AT BT IR HHEG Bl

B. W8l & §HT

e
|

c. ot @) o1 ggaH &

D. U%1 & UREU &I 7F B

E. SRararst (Reaige) & gz &f feramr
1 o U fawedt & @ T8l S

(1) ADBCE
(2)




EDBCA
(3) CDBAE
(4) CDEAEB

1[Option ID=24669]
2[Option ID=24670]
3[Option ID=24671]
4[Option ID=24672]

Sl. No.135
QBID:330509

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Poverty is a basic cause of undernutrition in children

Reason R : Poverty contributes to undernutrition by adversely influencing food and
nutrition security, housing and living environment with increased risk of infections

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4) A is false but R is true

THa HE T T @ ol ofi@my[ (a) R G & SR (R) Tal T &
i@y () - a1 o= § 3 - 9190 &1 Jd R 6

DR (R) : a1 FHa0T & Fed TIREH & 1Y W axgH Td Uiy TRe, ey
HR YE & FTaTaRTl W WiaPpa WHTE S1d B 3ed - N0l H IEH Bl g

Suded P! & el H FHgifdd bl # 4 @6l 3w g -

(1) (A) IR (R) T WEIE 3R (R), (A) P FE1 A&

(2) (A) 3R (R) Tl TET & T (R), (A) BT el TS Te1 €
(3) (A) FEl g R (R) Tl &1 &

(4) (A) 98I T8l 8 g (R) &1 &

1[Option ID=24677]
2[Option ID=24678]
3[Option ID=24679]
4[Option ID=24680]

Sl. No.136
QBID:330517

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : When disperse dyes are applied to polyesters at low temperatures, carriers
are required to bring about penetration of the dye molecules into the fiber.

Reason R : High pressure and high temperature eliminates the need for carriers.

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4) A s false but R is true




THa HE REME: @ o fidHyH (a) 3R G & SR (R) Tel T &

HfHYA (a) - T UifieReR g 99 [ auaH R S0 9e! (S159) &1 0arT
fohal Sl &, a1 3= H I6d AU & WA & [AY digd! &I SRl gidl ¢

TR (R) : 3 GIF AR 3= AU TdH| B MIGHd] GHIK B G 6|
Iudd HYHl & SHTelid H FHHifdd fddedl § U T8l SR 9 :

(1) (A) IR (R) T WEIE 3R (R), (A) P Tl A&

(2) (A) 3R (R) Tl TET & T (R), (A) BT el TS Te1 €|
(3) (A) FEl g R (R) Tl el &

(4) (A) 981 T8l 8 g (R) H&1 &

1[Option ID=24685]
2[Option ID=24686]
3[Option ID=24687]
4[Option ID=24688]

Sl. No.137
QBID:330530

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Longer outside walls should run in east-west direction and shorter ones in

north-south direction.

Reason R : This causes minimum wall area to expose to the direct sun rays and thus cause

less absorption and radiation of heat.

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4) A isfalse but R is true

TS YR RUTE : Ud B AHHYH (A) AR GWR S BRI (R) Bl T8
HHEU (A) : P G99 T80 IR U4 - U3 &= & g 91feT iR BT dlaR 3 -
ci&mor fg=m # gt 9rfgul

HRUI (R) : 39U S1AR BT AW &5 G4 31 diefi B0l & I usdl & 3R 39 WhR
T T (SN 3R Ao A ear 2|

Iudd dYHl & STelid H Fgifod fddedl § U 981 SR 9 :

(1) (A) IR (R) T WETE 3R (R), (A) P Tl A&

(2) (A) 3R (R) Tl TET & T (R), (A) BT HEl ATSAT Tl €
(3) (A) T E, A (R) A B

(4) (A) 3T B, TfeH (R) T B

1[Option ID=24693]
2[Option ID=24694]
3[Option ID=24695]
4[Option ID=24696]

Sl. No.138
QBID:330542




Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A doctor develops a vaccine with an intent of preventing future spread of
infections, but it harms people. This cannot be considered as an aggresive act

Reason R: An important aspect of aggressive behaviour is the intention underlying the
actors behaviour. Not all behaviours resulting in harm are considered aggression.

In light of the above statements, choose the most appropriate answer from the options

given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but Ris NOT the correct explanation of A
(3) Ais correct but R is not correct

(4) A is not correct but R is correct

THa HE T T @ ol ofi@my[ (a) R G & SR (R) Tal T &

YFHY (A) : T Slaey Haw & GHAU & JFH & [0, T I T FLar g,
fopq 3T AT &I B1iH Ul & | I8 U ShH® deR ol Yo ol 9adl|

BRI (R) : ATHD AdeR &1 U Hewqul Ugd Afidmaisi o OfEEd a1l 814
UgaH ar T TIaeR ST el A 9Id ol
IUded BT B ATl H FHiied el § 9 ¥81 ST 4 ;

(1) (A) 3R (R) THI T8I & 3R (R), (A) DI Tel ARAT &

(2) (A) 3R (R) T TE € A (R), (A) T Tel AR LT &
(3) (A) Hel 8 T3 (R) Wel Tl o

(4) (A) 981 761 § I (R) Hel &

1[Option ID=24701]
2[Option ID=24702]
3[Option ID=24703]
4[Option ID=24704]

Sl. No.139
QBID:330552

Given below are two statements
Statement I: Public service advertising and development advertising serve development

purposes
Statement II: They sell products and services but not ideas and messages

In light of the above statements, choose the most appropriate answer from the options

given below

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct




BIEEAEAIEAF R .
DY - | : T UaT fax19- iR faer faqoe fdem & 354l & I &vd |

FYF - 1l : d IdTal 3R Garefl @i faw! &3d &, dide [9aRT 3R W=l & fau v 98t
CEGEA
IuYe BYH! B 3eie | FEfRied fawedl § 3 98l SR g ;

(1) &Y 1 3R 11 &Hl el g
(2) T | 3R 1 &H TEd B
(3) @Y | Hel g, bg U 11 TTad &
(4) HYF 17104 &, food HU 1| TET 5 |

1[Option ID=24709]
2[Option ID=24710]
3[Option ID=24711]
4[Option ID=24712]

Sl. No.140
QBID:330558

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Repeated measures ANOVA permits the researcher to determine the
significance of mean differences on the same subjects over repeated trials.

Reason R : Repeated measures ANOVA is not used in testing designs where subjects are

measured before, during and after the treatment.

In light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) A is true but R is false

(4) A is false but R is true

T P RUIE : UF B AHYH (A) AR GIR I SR (R) Bl T ol

HUHYA (A) : THER AU A9 IRER WAl ¥ 3= dgadl ) Jreg fisgaraf &t
wddl Fuiia B &g udat & At SaT gl

PR (R) : IRER HIGS 31aT 0 HfHded & Tienr & gad T1 gidl & wia! [audt &1
AU JUDR & Ud, GRA ayT 915 | b1 Sal g

Suded P! & el H FHgifdd bl # 4 @6l 3w g -

(1) (A) IR (R) T WETE 3R (R), (A) P Tl A&

(2) (A) 3R (R) Tl TET & T (R), (A) BT el ATSAT Tel €|
(3) (A) FEl g R (R) Tl el &

(4) (A) 98I T8l 8 g (R) &1 &

1[Option ID=24717]
2[Option ID=24718]
3[Option ID=24719]
4[Option ID=24720]

Sl. No.141
QBID:330595




Read the passage carefully and answer five questions that follows

Although children and adolescents are less likely to suffer from severe disease and death
from COVID-19, disruptions in critical health and nutrition services due to country response
measures pose a significant threat to their servival, health and well-being. Countries have
reported common reasons for these disruptions including shortages of health personnel,
equipment and supplies; closures of facilities; reduced service hours; restrictions on
transportation; financial difficulties making health care expenses prohibitive for many
households; and fear of infection resulting in fewer families seeking health care services for
their children and fewer pregnant women accessing maternal health services. UNICEF's latest
survey tracking the impact of COVID-19 found that health-nutrition service disruptions were
still widespread at the end of 2020. Over one third of 148 countries included in the survey
reported reductions of at least 10 percent compared to the same time in 2019 in coverage
of wvaccination services, outpatient care for childhood infectious diseases, and maternal
health services. About a quarter of these countries reported reductions of 10 percent or
higher in vitamin A supplementation and treatment of child wasting. In addition, one in four
countries with ongoing humanitarian situations was facing reductions of 10 percent or more
in household drinking water services coverage, a major concern especially for countries with
protected crises that are facing recurrent health outbreaks, such as cholera. Trade
restrictions and disruptions in transportation due to the pandemic impact the food systems
negatively, increasing the risk of food insecurity for millions of families. Widespread school
closures have meant that millions of children and adolescents are missing out on nutritious
meals and health services delivered through schools. An estimated additional 6.7 million
children were expected to experience severe acute malnutrition or wasting by the end of
2020, increasing their risk of death and other negative health and development outcomes.

T TR P FEUTHIGES U SR UH F IR ST :

T HIGS - 19 ¥ T AR fHUR - it & difsa giex 4R 59 3 g &1 &4
THTaT B, fiee ot St erferan Surdl & SR Agw@qul W Ud Ui darsHf |
AU § B! Jaeliadl, WY Ud dgewil & Ufd Ue 4R G IaF g1 B
fafis <ol 5 37 sagyMl & Y 918 @R g1 &, oH W SId], SUEU ug
Aot @t o, giarsit 1 s g, Jarei & Uere U uue, ufided W ufaey, N
URER! &1 oy Siegal ¥ SEUE & T4 B Myy® s, UHH0 & 4T I 30 g1
% U W GEHIE UH dard URaRT &1 &4 gH1 AR Ajd W 3413 &1 0 & o
Ugd drcll &H THad Afgery Sl 81 @ifas - 19 & UM &1 Odl &3 dd IR
& GA&0T H U1 T4 2020 F 3d 9@ HI Wy - TN 491 § HU® HayH &1 3811 59
e § 148 2T &) ol e man o forgd @ ve foerE 3 & Aereenr Jaret,
T - YehHd T T AN Wl Jalsdi & Sl H 94 2019 B I6! @iy &1 T o
10 U= &1 HHT T3 | T U TS o= 3 faea - U wRor 3R 919 & (@)
# 10 ufaEa a1 el @1 fRrae RO @11 599 «falga, adig d@e 4 ToR & Tde
IR ¥ U U ¢ J YU 941 & dads ard UNaRi § 10 UiRe a1 SifEd 3 Sl 3.
il AR Credliad dbel dlcd oIl & oy fHdT &1 U G= SR 41| o goll oy
3Tad! @ [l &1 e & Te 4 | HelHRi & $RUI AUR W Uiasy 3R ufaes |
Y B W Yool IR TeRIAS FHE U] 3R 94 $iel URaRT & g @l
SRET & AIRGH ¥ 3fE g3 | OUD UAH R Wpal & A1=d d UM f&U 9H ad uva
3TER U4 Wred daisi ¥ dftd 6 U sifafad U 9 @y 6.7 Al =i & 2020
@ 3id I AP TER DU I7 & @RET) &1 U U IH &1 2uar ff, 5y
T G U4 3 ABRIAS W R ey uRkom § afE g3

Group that is less likely to suffer from severe disease and death from COVID-19 is-

(1) Elderly men
(2) Elderly women
(3) Children and adolescents

(4) Adults




IE Ui oS B11dS - 19 & RO TUR S0 U Uifsd SR g 8F & TH1E $49 &

(1) I&TeH

(2) 3FAlgay

(3) ¥= AR fHaR - fewifa
(4) ITEH Afad

1[Option ID=24725]
2[Option ID=24726]
3[Option ID=24727]
4[Option ID=24728]

Sl. No.142
QBID:330813




Read the passage carefully and answer five questions that follows

Although children and adolescents are less likely to suffer from severe disease and death
from COVID-19, disruptions in critical health and nutrition services due to country response
measures pose a significant threat to their servival, health and well-being. Countries have
reported common reasons for these disruptions including shortages of health personnel,
equipment and supplies; closures of facilities; reduced service hours; restrictions on
transportation; financial difficulties making health care expenses prohibitive for many
households; and fear of infection resulting in fewer families seeking health care services for
their children and fewer pregnant women accessing maternal health services. UNICEF's latest
survey tracking the impact of COVID-19 found that health-nutrition service disruptions were
still widespread at the end of 2020. Over one third of 148 countries included in the survey
reported reductions of at least 10 percent compared to the same time in 2019 in coverage
of wvaccination services, outpatient care for childhood infectious diseases, and maternal
health services. About a quarter of these countries reported reductions of 10 percent or
higher in vitamin A supplementation and treatment of child wasting. In addition, one in four
countries with ongoing humanitarian situations was facing reductions of 10 percent or more
in household drinking water services coverage, a major concern especially for countries with
protected crises that are facing recurrent health outbreaks, such as cholera. Trade
restrictions and disruptions in transportation due to the pandemic impact the food systems
negatively, increasing the risk of food insecurity for millions of families. Widespread school
closures have meant that millions of children and adolescents are missing out on nutritious
meals and health services delivered through schools. An estimated additional 6.7 million
children were expected to experience severe acute malnutrition or wasting by the end of
2020, increasing their risk of death and other negative health and development outcomes.

T TR P FEUTHIGES U SR UH F IR ST :

T HIGS - 19 ¥ T AR fHUR - it & difsa giex 4R 59 3 g &1 &4
THTaT B, fiee ot St erferan Surdl & SR Agw@qul W Ud Ui darsHf |
AU § B! Jaeliadl, WY Ud dgewil & Ufd Ue 4R G IaF g1 B
fafis <ol 5 37 sagyMl & Y 918 @R g1 &, oH W SId], SUEU ug
Aot @t o, giarsit 1 s g, Jarei & Uere U uue, ufided W ufaey, N
URER! &1 oy Siegal ¥ SEUE & T4 B Myy® s, UHH0 & 4T I 30 g1
% U W GEHIE UH dard URaRT &1 &4 gH1 AR Ajd W 3413 &1 0 & o
Ugd drcll &H THad Afgery Sl 81 @ifas - 19 & UM &1 Odl &3 dd IR
& GA&0T H U1 T4 2020 F 3d 9@ HI Wy - TN 491 § HU® HayH &1 3811 59
e § 148 2T &) ol e man o forgd @ ve foerE 3 & Aereenr Jaret,
T - YehHd T T AN Wl Jalsdi & Sl H 94 2019 B I6! @iy &1 T o
10 U= &1 HHT T3 | T U TS o= 3 faea - U wRor 3R 919 & (@)
# 10 ufaEa a1 el @1 fRrae RO @11 599 «falga, adig d@e 4 ToR & Tde
IR ¥ U U ¢ J YU 941 & dads ard UNaRi § 10 UiRe a1 SifEd 3 Sl 3.
il AR Credliad dbel dlcd oIl & oy fHdT &1 U G= SR 41| o goll oy
3Tad! @ [l &1 e & Te 4 | HelHRi & $RUI AUR W Uiasy 3R ufaes |
Y B W Yool IR TeRIAS FHE U] 3R 94 $iel URaRT & g @l
SRET & AIRGH ¥ 3fE g3 | OUD UAH R Wpal & A1=d d UM f&U 9H ad uva
3TER U4 Wred daisi ¥ dftd 6 U sifafad U 9 @y 6.7 Al =i & 2020
@ 3id I AP TER DU I7 & @RET) &1 U U IH &1 2uar ff, 5y
T G U4 3 ABRIAS W R ey uRkom § afE g3

Common reasons for disruption in critical health and nutrition services include-

(1) Fear of infection
(2) Fear of NCDs
(3) Fear of fall

(4) Fear of machines




TedyU] W U o arsit § SaeE! & 9 SR H IR §

(1) GHHU BT 4T
(2) TSl DT 9T
(3) fRA @ 4

(4) A BT HT

1[Option ID=24733]
2[Option ID=24734]
3[Option ID=24735]
4[Option ID=24736]
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Read the passage carefully and answer five questions that follows

Although children and adolescents are less likely to suffer from severe disease and death
from COVID-19, disruptions in critical health and nutrition services due to country response
measures pose a significant threat to their servival, health and well-being. Countries have
reported common reasons for these disruptions including shortages of health personnel,
equipment and supplies; closures of facilities; reduced service hours; restrictions on
transportation; financial difficulties making health care expenses prohibitive for many
households; and fear of infection resulting in fewer families seeking health care services for
their children and fewer pregnant women accessing maternal health services. UNICEF's latest
survey tracking the impact of COVID-19 found that health-nutrition service disruptions were
still widespread at the end of 2020. Over one third of 148 countries included in the survey
reported reductions of at least 10 percent compared to the same time in 2019 in coverage
of wvaccination services, outpatient care for childhood infectious diseases, and maternal
health services. About a quarter of these countries reported reductions of 10 percent or
higher in vitamin A supplementation and treatment of child wasting. In addition, one in four
countries with ongoing humanitarian situations was facing reductions of 10 percent or more
in household drinking water services coverage, a major concern especially for countries with
protected crises that are facing recurrent health outbreaks, such as cholera. Trade
restrictions and disruptions in transportation due to the pandemic impact the food systems
negatively, increasing the risk of food insecurity for millions of families. Widespread school
closures have meant that millions of children and adolescents are missing out on nutritious
meals and health services delivered through schools. An estimated additional 6.7 million
children were expected to experience severe acute malnutrition or wasting by the end of
2020, increasing their risk of death and other negative health and development outcomes.

T TR P FEUTHIGES U SR UH F IR ST :

T HIGS - 19 ¥ T AR fHUR - it & difsa giex 4R 59 3 g &1 &4
THTaT B, fiee ot St erferan Surdl & SR Agw@qul W Ud Ui darsHf |
AU § B! Jaeliadl, WY Ud dgewil & Ufd Ue 4R G IaF g1 B
fafis <ol 5 37 sagyMl & Y 918 @R g1 &, oH W SId], SUEU ug
Aot @t o, giarsit 1 s g, Jarei & Uere U uue, ufided W ufaey, N
URER! &1 oy Siegal ¥ SEUE & T4 B Myy® s, UHH0 & 4T I 30 g1
% U W GEHIE UH dard URaRT &1 &4 gH1 AR Ajd W 3413 &1 0 & o
Ugd drcll &H THad Afgery Sl 81 @ifas - 19 & UM &1 Odl &3 dd IR
& GA&0T H U1 T4 2020 F 3d 9@ HI Wy - TN 491 § HU® HayH &1 3811 59
e § 148 2T &) ol e man o forgd @ ve foerE 3 & Aereenr Jaret,
T - YehHd T T AN Wl Jalsdi & Sl H 94 2019 B I6! @iy &1 T o
10 U= &1 HHT T3 | T U TS o= 3 faea - U wRor 3R 919 & (@)
# 10 ufaEa a1 el @1 fRrae RO @11 599 «falga, adig d@e 4 ToR & Tde
IR ¥ U U ¢ J YU 941 & dads ard UNaRi § 10 UiRe a1 SifEd 3 Sl 3.
il AR Credliad dbel dlcd oIl & oy fHdT &1 U G= SR 41| o goll oy
3Tad! @ [l &1 e & Te 4 | HelHRi & $RUI AUR W Uiasy 3R ufaes |
Y B W Yool IR TeRIAS FHE U] 3R 94 $iel URaRT & g @l
SRET & AIRGH ¥ 3fE g3 | OUD UAH R Wpal & A1=d d UM f&U 9H ad uva
3TER U4 Wred daisi ¥ dftd 6 U sifafad U 9 @y 6.7 Al =i & 2020
@ 3id I AP TER DU I7 & @RET) &1 U U IH &1 2uar ff, 5y
T G U4 3 ABRIAS W R ey uRkom § afE g3

Approximate number of countries that reported reductions of at least 10% compared to the
same time in 2019 in coverage of maternal health services is -
(1) 50
(2) 75
(3) 100




) 143

3 oI BT T T, orgi- HIgd W UdrsHl & davel H 2019 B 341 e Bl
o1 H AdH 10 Uia=id &1 HH1 RUE &1 :

(1) 50
(2) 75
(3) 100
(4) 148

1[Option ID=24741]
2[Option ID=24742]
3[Option ID=24743]
4[Option ID=24744]
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Read the passage carefully and answer five questions that follows

Although children and adolescents are less likely to suffer from severe disease and death
from COVID-19, disruptions in critical health and nutrition services due to country response
measures pose a significant threat to their servival, health and well-being. Countries have
reported common reasons for these disruptions including shortages of health personnel,
equipment and supplies; closures of facilities; reduced service hours; restrictions on
transportation; financial difficulties making health care expenses prohibitive for many
households; and fear of infection resulting in fewer families seeking health care services for
their children and fewer pregnant women accessing maternal health services. UNICEF's latest
survey tracking the impact of COVID-19 found that health-nutrition service disruptions were
still widespread at the end of 2020. Over one third of 148 countries included in the survey
reported reductions of at least 10 percent compared to the same time in 2019 in coverage
of wvaccination services, outpatient care for childhood infectious diseases, and maternal
health services. About a quarter of these countries reported reductions of 10 percent or
higher in vitamin A supplementation and treatment of child wasting. In addition, one in four
countries with ongoing humanitarian situations was facing reductions of 10 percent or more
in household drinking water services coverage, a major concern especially for countries with
protected crises that are facing recurrent health outbreaks, such as cholera. Trade
restrictions and disruptions in transportation due to the pandemic impact the food systems
negatively, increasing the risk of food insecurity for millions of families. Widespread school
closures have meant that millions of children and adolescents are missing out on nutritious
meals and health services delivered through schools. An estimated additional 6.7 million
children were expected to experience severe acute malnutrition or wasting by the end of
2020, increasing their risk of death and other negative health and development outcomes.

T TR P FEUTHIGES U SR UH F IR ST :

T HIGS - 19 ¥ T AR fHUR - it & difsa giex 4R 59 3 g &1 &4
THTaT B, fiee ot St erferan Surdl & SR Agw@qul W Ud Ui darsHf |
AU § B! Jaeliadl, WY Ud dgewil & Ufd Ue 4R G IaF g1 B
fafis <ol 5 37 sagyMl & Y 918 @R g1 &, oH W SId], SUEU ug
Aot @t o, giarsit 1 s g, Jarei & Uere U uue, ufided W ufaey, N
URER! &1 oy Siegal ¥ SEUE & T4 B Myy® s, UHH0 & 4T I 30 g1
% U W GEHIE UH dard URaRT &1 &4 gH1 AR Ajd W 3413 &1 0 & o
Ugd drcll &H THad Afgery Sl 81 @ifas - 19 & UM &1 Odl &3 dd IR
& GA&0T H U1 T4 2020 F 3d 9@ HI Wy - TN 491 § HU® HayH &1 3811 59
e § 148 2T &) ol e man o forgd @ ve foerE 3 & Aereenr Jaret,
T - YehHd T T AN Wl Jalsdi & Sl H 94 2019 B I6! @iy &1 T o
10 U= &1 HHT T3 | T U TS o= 3 faea - U wRor 3R 919 & (@)
# 10 ufaEa a1 el @1 fRrae RO @11 599 «falga, adig d@e 4 ToR & Tde
IR ¥ U U ¢ J YU 941 & dads ard UNaRi § 10 UiRe a1 SifEd 3 Sl 3.
il AR Credliad dbel dlcd oIl & oy fHdT &1 U G= SR 41| o goll oy
3Tad! @ [l &1 e & Te 4 | HelHRi & $RUI AUR W Uiasy 3R ufaes |
Y B W Yool IR TeRIAS FHE U] 3R 94 $iel URaRT & g @l
SRET & AIRGH ¥ 3fE g3 | OUD UAH R Wpal & A1=d d UM f&U 9H ad uva
3TER U4 Wred daisi ¥ dftd 6 U sifafad U 9 @y 6.7 Al =i & 2020
@ 3id I AP TER DU I7 & @RET) &1 U U IH &1 2uar ff, 5y
T G U4 3 ABRIAS W R ey uRkom § afE g3

Approximate number of countries that reported reductions of 10% or higher in vitamin A
supplimentation is-
(1) 147
(2) 107
(3) 77




# 37
G - TS WRur & 10 UfG=d a1 i8I 1 B &l FTUIE S ardt G20t &1 T4 T

CE

(1) 147
(2) 107
3) 77
(4) 37

1[Option ID=24749]
2[Option ID=24750]
3[Option ID=24751]
4[Option ID=24752]
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Read the passage carefully and answer five questions that follows

Although children and adolescents are less likely to suffer from severe disease and death
from COVID-19, disruptions in critical health and nutrition services due to country response
measures pose a significant threat to their servival, health and well-being. Countries have
reported common reasons for these disruptions including shortages of health personnel,
equipment and supplies; closures of facilities; reduced service hours; restrictions on
transportation; financial difficulties making health care expenses prohibitive for many
households; and fear of infection resulting in fewer families seeking health care services for
their children and fewer pregnant women accessing maternal health services. UNICEF's latest
survey tracking the impact of COVID-19 found that health-nutrition service disruptions were
still widespread at the end of 2020. Over one third of 148 countries included in the survey
reported reductions of at least 10 percent compared to the same time in 2019 in coverage
of wvaccination services, outpatient care for childhood infectious diseases, and maternal
health services. About a quarter of these countries reported reductions of 10 percent or
higher in vitamin A supplementation and treatment of child wasting. In addition, one in four
countries with ongoing humanitarian situations was facing reductions of 10 percent or more
in household drinking water services coverage, a major concern especially for countries with
protected crises that are facing recurrent health outbreaks, such as cholera. Trade
restrictions and disruptions in transportation due to the pandemic impact the food systems
negatively, increasing the risk of food insecurity for millions of families. Widespread school
closures have meant that millions of children and adolescents are missing out on nutritious
meals and health services delivered through schools. An estimated additional 6.7 million
children were expected to experience severe acute malnutrition or wasting by the end of
2020, increasing their risk of death and other negative health and development outcomes.

T TR P FEUTHIGES U SR UH F IR ST :

T HIGS - 19 ¥ T AR fHUR - it & difsa giex 4R 59 3 g &1 &4
THTaT B, fiee ot St erferan Surdl & SR Agw@qul W Ud Ui darsHf |
AU § B! Jaeliadl, WY Ud dgewil & Ufd Ue 4R G IaF g1 B
fafis <ol 5 37 sagyMl & Y 918 @R g1 &, oH W SId], SUEU ug
Aot @t o, giarsit 1 s g, Jarei & Uere U uue, ufided W ufaey, N
URER! &1 oy Siegal ¥ SEUE & T4 B Myy® s, UHH0 & 4T I 30 g1
% U W GEHIE UH dard URaRT &1 &4 gH1 AR Ajd W 3413 &1 0 & o
Ugd drcll &H THad Afgery Sl 81 @ifas - 19 & UM &1 Odl &3 dd IR
& GA&0T H U1 T4 2020 F 3d 9@ HI Wy - TN 491 § HU® HayH &1 3811 59
e § 148 2T &) ol e man o forgd @ ve foerE 3 & Aereenr Jaret,
TS - YebrHa AT U9 Higa AT YaTe! & adel 8 a8 2019 DI 34! afe &1 Jo-n &
10 U=IT &1 HHT A5 | T U AT, o=11 4 [ - T WRo1 3R 919 &1 @Re)
o 10 UfeRE 91 Wal &1 fR1ae RUiE 11 396 Hfdiad, AFdg dde U ToR @ Tdd
IR ¥ U U ¢ J YU 941 & dads ard UNaRi § 10 UiRe a1 SifEd 3 Sl 3.
il AR Credliad dbel dlcd oIl & oy fHdT &1 U G= SR 41| o goll oy
3Tad! @ [l &1 e & Te 4 | HelHRi & $RUI AUR W Uiasy 3R ufaes |
Y B W Yool IR TeRIAS FHE U] 3R 94 $iel URaRT & g @l
SRET & AIRGH ¥ 3fE g3 | OUD UAH R Wpal & A1=d d UM f&U 9H ad uva
3TER U4 Wred daisi ¥ dftd 6 U sifafad U 9 @y 6.7 Al =i & 2020
@ 3id I AP TER DU I7 & @RET) &1 U U IH &1 2uar ff, 5y
T G U4 3 ABRIAS W R ey uRkom § afE g3

The number of children that were expected to experience SAM or wasting by the end of
2020 was
(1) 6.7 billion
(2) 6.7 million

(3) 67 billion




(%) 67 million

3 a= BI A, ToF@1 2020 & 3id 96 THLUH, TT &4 (QRET) & 3FHT T DI
Y& B 5 of -

(1) 6.7 e

(2) 6.7 HTTA

(3) 67 fafca=

(4) 67 AT

1[Option ID=24757]
2[Option ID=24758]
3[Option ID=24759]
4[Option ID=24760]
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Read the passage carefully and answer the five questions that follows

Lakshmi's story is one of the many success stories of women from rural areas of India, who have changed the destiny of their
families. She has been a member of a self help group of National Rural Livelihood Mission (NRLM) -a government programme to
boost rural income. The programme's earliest adopters like Lakshmi, who got a 2.5 years head-start over those who joined later,
have seen their household income increase by atleast 19% and their savings by 28%. Easier access to loans has reduced informal
credit, such as from money lenders who typically charge high interest rates by 20%, financial access have enabled village women to
boost their families' incomes and educated women have benefited the most from the programme with those with more years of
schooling receiving larger loans. These are the findings of a recent evaluation of NRLM across seven states. NRLM provides village
level SHGs that have existed for atleast three months, a one time revolving fund of Rs 15,000 to be disbursed among members.
Some SHGs also qualify for loans from banks upto Rs 3 lakhs, which can be used for members’ livelihcod and other needs. Several
evaluations have found positive impacts on income, women's health spending and labour force participation. Currently India has
6.6 million SHGs with 72 million members. The NRLM aims to reach 70-80 million poor households by 2025, according to the
government's implementation plan. Research suggests providing more training and support through SHGs and leadership
opportunities to less educated women and greater emphases on livelihood generation and inclusion of the most marginalised.
Every SHG has a President and Secretary. Lakshmi, who is the secretary, has studied untill grade X, she herself said, you need to be
little educated to be secretary or president because you have to sign in the bank and understand these matters.

TH TR I HEUHITES T8 MR UM FIWE

TEH BT BEMI HRd & TH G5 BT 3 AfgenH @I ool @ Heral 5 § TS §,
forgi- 30 ulaR &t Frafd g aac a1 38 g A Mgt 32 (T, 2REeH)
@ Uo W4 Yegdl Y9 (TU.UES) &) U9 Wl o1 98 B U6 IWHR] HUHH o, Sl
AT 9 H 3fE &Rl &1 SH PAHH & WY Seal o aral ae o Afganst @ &3
Y SS- arcll Afgarsi @1 Ut 2.5 a4 &1 §S - e ie 7141 aul 371 UIikaia d o
FAdH 9 UGRId 3R F9d § 28 UGRd & 3E g1 FUI a9 AUS MUE Ugd O
SN HUIT H FRIEE 15, 9 - 3@ YgdR B 1R 20 W[ el 3= &5 -
X @I IYell B ¢! fa<di ugd & SRU U Higd U uiRaie o/ H defl O
3& & & &M g3 § °iX 34 owd 4 Rifga aftast of «ifte I & o uq &
alited a4 g o, [oFd! il 18T Sifie qul 9o el 3 ey a1 Il & a8 o
T, 3R, UA. UH. & 81 ol & Jedidhd QT 7Y &1 T, 3R, Ta. THAM ¥R 1R 34 T4,
T, o, @ e J 15,000 3. B THaRd giendl Y @ - 2sd Raia ke) didalka
&l &, §il gad diH H18 ¥ 3&d H €1 $% U4, T4, ol 0l ¥ 3 7 3. 9 & Bl
oH & UE g, [Ou®T el &l Selidd 3R - HaRgdmdls| o g SudiT fdr o
THdl & | S-S il § 31, Afgars & @l R oy 3R 4Hd ad 1 HFeR W
YHRIAS UG U Y| gd9H H, YR T 6.6 ffema wawa s, § e 72 ffeE
e ¢ | IR 31 DEFGE o] & AR TH. 3R, U9, TH.H 3534 a4 2025 d® 70
- 80 farferga e ulaRi 0% vga e ST o | WY T T, UL o, & Ay U AfYE
A& ud wHdA iR o R Aigdrs @ A9d & G o & g9 Gh1 T4 §
YT AT IUT- Ud Haied iHid arl & JHeeF W 99 641 T 8| Udd T
U, SilLH U HeE SR U Hiad gldl o

q1d GAY: &0 31 &Y, o 9f9d § 3R x df $a do Rféd 81 95 WY 9drdi g, HUDI
faa a1 sl 9 & [T UTST - 954 Ugl - ol g1 et diid 3ud] §6 H iar
BT USd § SR 37 AW Bl GHFT I8

2.5 years 'head-start’ as mentioned in the paraghraph means those women who

(1) were educated
(2) were illiterate
(3) joined earlier

(4) joined later

SWRiad T | Sfcaad 2.5 94 BT 88 - B Pl g, ol :

(1) TEriém of
(2) FReR o




(3) ygd wfHfed gs o
(4) 91 H il g3 of

1[Option ID=24765]
2[Option ID=24766]
3[Option ID=24767]
4[Option ID=24768]

Sl. No.147
QBID:330847

Read the passage carefully and answer the five questions that follows

Lakshmi's story is one of the many success stories of women from rural areas of India, who have changed the destiny of their
families. She has been a member of a self help group of National Rural Livelihood Mission (NRLM) -a government programme to
boost rural income. The programme's earliest adopters like Lakshmi, who got a 2.5 years head-start over those who joined later,
have seen their household income increase by atleast 19% and their savings by 28%. Easier access to loans has reduced informal
credit, such as from money lenders who typically charge high interest rates by 20%, financial access have enabled village women to
boost their families' incomes and educated women have benefited the most from the programme with those with more years of
schooling receiving larger loans. These are the findings of a recent evaluation of NRLM across seven states. NRLM provides village
level SHGs that have existed for atleast three months, a one time revolving fund of Rs 15,000 to be disbursed among members.
Some SHGs also qualify for loans from banks upto Rs 3 lakhs, which can be used for members' livelihcod and other needs. Several
evaluations have found positive impacts on income, women's health spending and labour force participation. Currently India has
6.6 million SHGs with 72 million members. The NRLM aims to reach 70-80 million poor households by 2025, according to the
government's implementation plan. Research suggests providing more training and support through SHGs and leadership
opportunities to less educated women and greater emphases on livelihood generation and inclusion of the most marginalised.
Every SHG has a President and Secretary. Lakshmi, who is the secretary, has studied untill grade X, she herself said, you need to be
little educated to be secretary or president because you have to sign in the bank and understand these matters.

TH TR I HEUHITES T8 MR UM FIWE

TEH BT BEMI HRd & TH G5 BT 3 AfgenH @I ool @ Heral 5 § TS §,
forgi+ a0 ufvaR @t Fafd & aaa 211 g8 g I arshifgesT 32 (0. 2RueeE)
® U® W0 Hedl 9HE (TH.UDS) B 9a W61 81 U8 MY U6 SR BUSH €, Sl
TTHN A H g Tl §1 39 HRHH & 1Y Seal oS- drelt agH ordt Afgarst &t e
T 9= Tl Afgaad @1 HUaT 2.5 94 &1 TS - TIe' & 71 7UT 3701 UIikaia g H
THIH 9 Ufawd AR g9d § 28 Ufdwd &1 IS g31 HUI 9@ MfUs M9H Ugd °
AT Bl | R 318, 9 - 3 WgHR B0 W 20 Hiawa e 3w & -
R B agelt B gl I ugd & SR U AHigdny s uiaie o J del °
3E @ # WaH g8 § °iX 39 owd | fiféa Afeane ®f sftw I & o ue o
it o Ugdl 8, ford! Toeil e wifte auf 9@ @1 3 ey 9rd a9 & aR |
U, 3R, Ud. UH. & 81 81 & Jodie J fGU 7T 31 T, 3R, Uel. THIM wR IR 34 T4.
U9, Ofl. & H&di 5 15,000 %. B THardIT uReps i @ - @54 Raldn vs) dfgakd
&l B, 9l AT dF 118 U @ & g1 T TH. U9, off. §o1 ¥ 3 9 T, 9@ & B
- & UA B, st Sl @1 SAeiidd AR o Aagadla & e Juan faar o
Gl g1 3F® Jlidb-1 H 317, Afgarsil & W R I AR 4 a0 @1 HRieR W
YHRIED UG U Y| Ga8H H, YRd H 6.6 Al vawad. ¢ s 72 fAikrE
e ¢ | IR 31 DEFGE o] & AR TH. 3R, U9, TH.H 3534 a4 2025 d® 70
- 80 farferga e ulaRi 0% vga e ST o | WY T T, UL o, & Ay U AfYE
A& ud wHdA iR o R Aigdrs @ A9d & G o & g9 Gh1 T4 §
YT HTehifadT IuTe- Ud alfties Hid dil & SHeRH W a9 61 T 5| Ul T4,
U, SilLH U HeE SR U Hiad gldl o

ad THy: A B B, A 9fd g oR x O wan 9@ Rféa 31 98 WY Fardt g, o
i a1 el 9 o foTT UiST - 984 Ugl - foran g1 it ifds Sush! §& H gwiar
H USd & IR 39 99d & 9T el 6l

Household income for early adopters increased by-

(1) 9%
(2) 19%
(3) 28%




(4) 47%
Ugd 9[- ardl &1 uIikane | | fba-! gfs g3 41 7

(1) 9 Tf=rd
(2) 19 Yfa=d
(3) 28 gfa=id
(4) 47 gfa=rd

1[Option ID=24773]
2[Option ID=24774]
3[Option ID=24775]
4[Option ID=24776]

Sl. No.148
QBID:330849




Read the passage carefully and answer the five questions that follows

Lakshmi's story is one of the many success stories of women from rural areas of India, who have changed the destiny of their
families. She has been a member of a self help group of National Rural Livelihood Mission (NRLM) -a government programme to
boost rural income. The programme's earliest adopters like Lakshmi, who got a 2.5 years head-start over those who joined later,
have seen their household income increase by atleast 19% and their savings by 28%. Easier access to loans has reduced informal
credit, such as from money lenders who typically charge high interest rates by 20%, financial access have enabled village women to
boost their families' incomes and educated women have benefited the most from the programme with those with more years of
schooling receiving larger loans. These are the findings of a recent evaluation of NRLM across seven states. NRLM provides village
level SHGs that have existed for atleast three months, a one time revolving fund of Rs 15,000 to be disbursed among members.
Some SHGs also qualify for loans from banks upto Rs 3 lakhs, which can be used for members’ livelihcod and other needs. Several
evaluations have found positive impacts on income, women's health spending and labour force participation. Currently India has
6.6 million SHGs with 72 million members. The NRLM aims to reach 70-80 million poor households by 2025, according to the
government's implementation plan. Research suggests providing more training and support through SHGs and leadership
opportunities to less educated women and greater emphases on livelihood generation and inclusion of the most marginalised.
Every SHG has a President and Secretary. Lakshmi, who is the secretary, has studied untill grade X, she herself said, you need to be
little educated to be secretary or president because you have to sign in the bank and understand these matters.

TH TR I HEUHITES T8 MR UM FIWE

TEH BT BEMI HRd & TH G5 BT 3 AfgenH @I ool @ Heral 5 § TS §,
forgi- 30 ulaR &t Frafd g aac a1 38 g A Mgt 32 (T, 2REeH)
@ Uo W4 Yegdl Y9 (TU.UES) &) U9 Wl o1 98 B U6 IWHR] HUHH o, Sl
AT 9 H 3fE &Rl &1 SH PAHH & WY Seal o aral ae o Afganst @ &3
Y SS- arcll Afgarsi @1 Ut 2.5 a4 &1 §S - e ie 7141 aul 371 UIikaia d o
FAdH 9 UGRId 3R F9d § 28 UGRd & 3E g1 FUI a9 AUS MUE Ugd O
SN HUIT H FRIEE 15, 9 - 3@ YgdR B 1R 20 W[ el 3= &5 -
X @I IYell B ¢! fa<di ugd & SRU U Higd U uiRaie o/ H defl O
3& & & &M g3 § °iX 34 owd 4 Rifga aftast of «ifte I & o uq &
alited a4 g o, [oFd! il 18T Sifie qul 9o el 3 ey a1 Il & a8 o
T, 3R, UA. UH. & 81 ol & Jedidhd QT 7Y &1 T, 3R, Ta. THAM ¥R 1R 34 T4,
T, o, @ e J 15,000 3. B THaRd giendl Y @ - 2sd Raia ke) didalka
&l &, §il gad diH H18 ¥ 3&d H €1 $% U4, T4, ol 0l ¥ 3 7 3. 9 & Bl
oH & UE g, [Ou®T el &l Selidd 3R - HaRgdmdls| o g SudiT fdr o
THdl & | S-S il § 31, Afgars & @l R oy 3R 4Hd ad 1 HFeR W
YHRIAS UG U Y| gd9H H, YR T 6.6 ffema wawa s, § e 72 ffeE
e ¢ | IR 31 DEFGE o] & AR TH. 3R, U9, TH.H 3534 a4 2025 d® 70
- 80 farferga e ulaRi 0% vga e ST o | WY T T, UL o, & Ay U AfYE
A& ud wHdA iR o R Aigdrs @ A9d & G o & g9 Gh1 T4 §
YT AT IUT- Ud Haied iHid arl & JHeeF W 99 641 T 8| Udd T
U, SilLH U HeE SR U Hiad gldl o

q1d GAY: &0 31 &Y, o 9f9d § 3R x df $a do Rféd 81 95 WY 9drdi g, HUDI
faa a1 sl 9 & [T UTST - 954 Ugl - ol g1 et diid 3ud] §6 H iar
BT USd § SR 37 AW Bl GHFT I8

India has how many SHG members?

(1) 6.6 million
(2) 72 million
(3) 70 million
(4) 80 million
YRA H GO . & e Tew § 7

1) 6.6 AfETA
(2) 72 THfem=
3) 70 Hfem=a




(@) go THfema

1[Option ID=24781]
2[Option ID=24782]
3[Option ID=24783]
4[Option ID=24784]

Sl. No.149
QBID:330852

Read the passage carefully and answer the five questions that follows

Lakshmi's story is one of the many success stories of women from rural areas of India, who have changed the destiny of their
families. She has been a member of a self help group of National Rural Livelihood Mission (NRLM) -a government programme to
boost rural income. The programme’s earliest adopters like Lakshmi, who got a 2.5 years head-start over those who joined later,
have seen their household income increase by atleast 19% and their savings by 289%. Easier access to loans has reduced informal
credit, such as from money lenders who typically charge high interest rates by 20%, financial access have enabled village women to
boost their families' incomes and educated women have benefited the most from the programme with those with more years of
schooling receiving larger loans. These are the findings of a recent evaluation of NRLM across seven states. NRLM provides village
level SHGs that have existed for atleast three months, a one time revolving fund of Rs 15,000 to be disbursed among members.
Some SHGs also qualify for loans from banks upto Rs 3 lakhs, which can be used for members’ livelihood and other needs. Several
evaluations have found positive impacts on income, women's health spending and labour force participation. Currently India has
6.6 million SHGs with 72 million members. The NRLM aims to reach 70-80 million poor households by 2025, according to the
government's implementation plan. Research suggests providing more training and support through SHGs and leadership
opportunities to less educated women and greater emphases on livelihood generation and inclusion of the most marginalised.
Every SHG has a President and Secretary. Lakshmi, who is the secretary, has studied untill grade X, she herself said, you need to be
little educated to be secretary or president because you have to sign in the bank and understand these matters.

T T B FEUHITES U8 MR UM FITE

<IeH! @1 Perl HRA D AHI & B 3T Afgas B ghadl B deli-al H U TS g,
fSei 31u uRaR &1 fufd 81 9aq < | 9g AP A MhifgeT e (@.3RuaeH)
& U@ WU Uerdl UHg (TU.UE.S) 31 95H 36l ¢l 98 FRH '@ WaK! aUFH §, Al
AT 9 H 9fS &Rl o1 SH BRHH & U Seal o aral el ordt Afears @ o3
U g arell Afganail $f SfUa 2.5 34 1 TS - TIe- 7 791 7Yl S9! TIRaRe [ H
IHdH 9 UiaRId R §9d § 28 UiGwd & 3fs g31 FUI 9@ UG HUE Ugd O
SN FIf H FRIGE 15, S - oHd® JgdR B W 20 W[ M-l 3o &5 -
X @ Il B ¢ fa<i ugd & SRY U Higd ol uiaie o | dsi O
3 &e © UeH g3 § 3R 39 odeH 9 fRifga aigarst o sifbs I & o uH &
alfd @y Ugd o, fora! wpa fam s auf d@ e & ey 9d Iog & R F
U4, ¥R, Ua. UH. & B & & Hedid H QU 7TU 81 U4, R, Uel. TAIM &R W 34 U4,
T, off. @ & § 15,000 %, B TmaRd 1 gReea [y @ - ersd Raif we) dfdalka
@l &, Sl YAGH - HIg ¥ H&ia H 81 $© UH. T4, Ol dol ¥ 3 9 3. dd & B
- & UH B, foa®T el @ i@ SR o SfiaRgddrsil o ford SudnT fadm o
ol 8| S qeaio-! & 317, Afearsl & w@red R od 3R 486 90 @1 UFieR] R
THRIED UG O1¢ U 9d9H 8 YRd H 6.6 A= tawa . € fomd 72 Bt
e B | WHR B HEFGT o1 & HTHR TH. AR, T4, TH.HT I533 a8 2025 d6 70
- 80 faifera A= uftaR! % Uga & S 31 MY H T, U, o, & A1eEd § Afis
TIET Td S IR B fidd Afgared ®I Aqa © AHER & @ GG U T g
qUT HTelifaeT Iurei- U9 Faftae diafd i & 9969 W ¢ 601 T 81 Tde 4.
T4, Wi H Us Hee 3R U Tiaa gial g

a1 [Ay: T B &L, o Ifa B R x ff @&T a RifEd 81 98 WY 9ard! 8, s
Tfa a1 Hee a4 & o0 41T - 984 Uel - forar 8141 aifet &ifd sfud! s o gxar
@ Usd & SR 37 AMdl & g9 il o

Who have benefited the most from the programme?

(1) Women who were illiterate
(2) Women who were from marginalised social groups

(3) Women who have had some years of education




(4) Women who received loan of Rs 3 lakhs

39 SrHd 4 oIl Haifte @y TgTT s ;

(1) FrRaR Afgam

(2) GHid gEIfer® 9gg &1 Afean

(3) TS Ul aP (&1 U7 g3 Higany

(4) dF Arg %, d@ &1 HU U ardl Jfgang

1[Option ID=24789]
2[Option ID=24790]
3[Option ID=24791]
4[Option ID=24792]

SI. No.150
QBID:330856

Read the passage carefully and answer the five questions that follows

Lakshmi's story is one of the many success stories of women from rural areas of India, who have changed the destiny of their
families. She has been a member of a self help group of National Rural Livelihood Mission (NRLM) -a government programme to
boost rural income. The programme's earliest adopters like Lakshmi, who got a 2.5 years head-start over those who joined later,
have seen their household income increase by atleast 19% and their savings by 28%. Easier access to loans has reduced informal
credit, such as from money lenders who typically charge high interest rates by 20%, financial access have enabled village women to
boost their families' incomes and educated women have benefited the most from the programme with those with more years of
schooling receiving larger loans. These are the findings of a recent evaluation of NRLM across seven states. NRLM provides village
level SHGs that have existed for atleast three months, a one time revolving fund of Rs 15,000 to be disbursed among members.
Some SHGs also qualify for loans from banks upto Rs 3 lakhs, which can be used for members’ livelihcod and other needs. Several
evaluations have found positive impacts on income, women's health spending and labour force participation. Currently India has
6.6 million SHGs with 72 million members. The NRLM aims to reach 70-80 million poor households by 2025, according to the
government's implementation plan. Research suggests providing more training and support through SHGs and leadership
opportunities to less educated women and greater emphases on livelihood generation and inclusion of the most marginalised.
Every SHG has a President and Secretary. Lakshmi, who is the secretary, has studied untill grade X, she herself said, you need to be
little educated to be secretary or president because you have to sign in the bank and understand these matters.

TH TR I HEUHITES T8 MR UM FIWE

TEH BT BEMI HRd & TH G5 BT 3 AfgenH @I ool @ Heral 5 § TS §,
forgi+ a0 ufvaR @t Fafd & aaa 211 g8 g I arshifgesT 32 (0. 2RueeE)
® U® W0 Hedl 9HE (TH.UDS) B 9a W61 81 U8 MY U6 SR BUSH €, Sl
TTHN A H g Tl §1 39 HRHH & 1Y Seal oS- drelt agH ordt Afgarst &t e
T 9= Tl Afgaad @1 HUaT 2.5 94 &1 TS - TIe' & 71 7UT 3701 UIikaia g H
THIH 9 Ufawd AR g9d § 28 Ufdwd &1 IS g31 HUI 9@ MfUs M9H Ugd °
AT Bl | R 318, 9 - 3 WgHR B0 W 20 Hiawa e 3w & -
R B agelt B gl I ugd & SR U AHigdny s uiaie o J del °
3 B © UaM g3 § IR 39 afen g ifdm afgared & «fie i & wo o o
alited a4 g o, [oFd! il 18T Sifie qul 9o el 3 ey a1 Il & a8 o
T, 3R, UA. UH. & 81 ol & Jedidhd QT 7Y &1 T, 3R, Ta. THAM ¥R 1R 34 T4,
T, o, @ e J 15,000 3. B THaRd giendl Y @ - 2sd Raia ke) didalka
&l &, §il gad diH H18 ¥ 3&d H €1 $% U4, T4, ol 0l ¥ 3 7 3. 9 & Bl
oH & UE g, [Ou®T el &l Selidd 3R - HaRgdmdls| o g SudiT fdr o
THdl & | S-S il § 31, Afgars & @l R oy 3R 4Hd ad 1 HFeR W
YHRIED UG U Y| Ga8H H, YRd H 6.6 Al vawad. ¢ s 72 fAikrE
e ¢ | IR 31 DEFGE o] & AR TH. 3R, U9, TH.H 3534 a4 2025 d® 70
- 80 farferga e ulaRi 0% vga e ST o | WY T T, UL o, & Ay U AfYE
A& ud wHdA iR o R Aigdrs @ A9d & G o & g9 Gh1 T4 §
YT HTehifadT IuTe- Ud alfties Hid dil & SHeRH W a9 61 T 5| Ul T4,
U, SilLH U HeE SR U Hiad gldl o

ad THy: A B B, A 9fd g oR x O wan 9@ Rféa 31 98 WY Fardt g, o
i a1 el 9 o foTT UiST - 984 Ugl - foran g1 it ifds Sush! §& H gwiar
F USd & IR 57 95l B gHS e gl




Research supports providing emphasis on
A. more training

B. more leadership opportunities

C. opportunities to travel

D. inclusion of most marginalised

E. generating livelihoods

Choose the correct answer from the options given below:

(1) A B, CandD only
(2) B, C, DandE only
(3) A, B, DandEonly
(4) A, C,DandEonly

Ty I 5 IR 1 &+ &) 91d Bal 5 6 -
A. 3 ufRiam

B. A9 & AT AW

C. OET & 3T

D. Gaifid HiHid &1 gHhe=
E. JTSiifddT JUIfsld &1
Hid feu T fashenl # 9 w8l SR gH -

(1) HETA, B, C, D
(2) HadB, C D, E
(3) HATA, B, D, E
(4) BAAA, C, D, E

1[Option ID=24797]
2[Option ID=24798]
3[Option ID=24799]
4[Option ID=24800]




